Goteborgs BF
Manfred Kamras minne 2010-11-13

Partavling, 27 bord, 54 par. Antal brickor: 70. Medel: 1820.3.

Plac Par Poang % Namn MID Klubb
1 54 2118.4 58.20 Cecilia Rimstedt - Johan Upmark 78586 24498 Orebridgen - BK S:t Erik
2 11 2094.7 57.55 Mikael Westerlund - Kent Johansson 9690 1834 BK Lyx
3 46 2054.7 56.45 Jim Nielsen - Anders Brunzell 4865 12576 BK Everfresh
4 22 2042.7 56.12 Daniel Eriksson - Urban Bjorklund 24659 9496 Soderhamns BS
5 47 2041.4 56.08 Arne Larsson - Jan Becklen 12173 20525 BK Everfresh - Malmé BK
6 3 2031.2 55.80 Robin Bjorkstrand - Thomas Magnusson 30309 3693 Salamandern/Wasa - Nasby BS
7 23 2015.7 55.38 Mikael Rimstedt - Daniel Gullberg 88184 37167 Harplinge BK - BK S:t Erik
8 51 2013.7 55.32 Johan Wedeen - Peter Karlsson 1166 2382 Kungsbacka BS - BK Centrum
9 43 1996.0 54.84 Henrik Noberius - Bo Roos 79008 13691 Skara BS
10 42 1984.4 54.52 Lars Jansson - Bjorn Sorling 30089 80438 Salamandern/Wasa - Bohus Nations BS
11 44 19445 5342 Leif Ruthstrom - Thomas Karlsson 13060 8958 Storsjobygdens BK
12 38 1930.7 53.04 Goran Selldén - Jan-Olov Andersson 4863 3542 BK Lyx
13 2 1923.0 52.83 Hakan Tjarnemo - Bengt Emanuelsson 5534 4620 LUCK
14 34 1918.7 52.71 Christer Wingard - Jim Albertsson 3925 3924 Uddevalla BF
15 49 1918.4 52.70 Eva Gunnarsson - Peter Modh 12598 1605 Bohus Nations BS
16 9 1910.0 52.47 Tommy Gunnarsson - Michael Lemborn 10295 1215 Salamandern/Wasa - Karlstads BK
17 50 1909.2 52.45 Suzanne Larsson - Peggy Nyholm 14984 51632 Karlstads BK - Arvika BS
18 52 1908.8 52.44 Yiva Pyykkd - Jan-Erik Asmo 50062 2970 BK Centrum
19 28 1903.0 52.28 Tobias Tornqvist - Arvid Wikner 16484 18492 BK Everfresh - BK S:t Erik
20 31 1894.7 52.05 Leif Johansson - Lena Johansson 18448 15309 Vargarda BS
21 7 1891.3 51.96 Soren Westling - Martin Lundberg 27606 26104 BK Everfresh
22 18 1875.8 51.53 Anna Zack-Einarsson - Bengt-Erik Efraimsson 4049 127 BK S:tErik
23 35 1871.1 5140 Mietek Warchiwker - Sdren Lennartsson 5058 9338 Salamandern/Wasa - Falkdpings BS
24 5 1849.8 50.82 Gudrun Strandberg - Tore Stormo 4143 78250 Arla BK
25 13 1841.7 50.59 Nils Ahlén - Gerhard Jérgensen 1169 12288 BK Everfresh
26 21 1837.9 50.49 Lars Kennethsson - Per Jansson 17074 2485 Anderstorps BK - Konga BK
27 45 1836.2 50.44 Ronny Hellberg - Stefan Josefsson 84485 2033 Veddige BS - Arla BK
28 8 1831.6 50.32 Borje Brag - Kenneth Andreasson 19633 10646 Partille BK
29 53 1828.8 50.24 Lars-Ake Gustafsson - Bjérn Wenander 17359 4856 Mdlnlycke BS
30 26 1825.3 50.14 Otto Berntsson - Géte Berntsson 78315 92122 Orust BK
31 40 18249 50.14 Arne Jordestedt - Leif Andréasson 4809 7519 Vargarda BS - Kungshamns BK
32 48 1819.2 49.98 Robert Back - Lena Petersen 11174 12966 BK Lyx
33 25 18025 49.52 Markus Hedstrom - Leif Axelsson 87082 1706 Skovde BA
34 12 1791.3 49.21 Thomas Samuelsson - Rolf Back 9808 8794 Boras BA
35 10 1784.4 49.02 Simon Hult - Johan Karlsson 36107 32229 Overums BK - Hallefors BK
36 30 1778.3 48.85 Roland Andersson - Morgan Wiklander 1766 1785 Vargarda BS - Alingsds BS
37 39 1758.6 48.31 Ivar Barikmo - Jacob Kleiven - 29713 Norge - BK Centrum
38 15 1745.0 47.94 Magnus Eriksson - Ola Rimstedt 1170 88183 Harplinge BK
39 36 17245 47.38 Mats Allgdwer - Goran Rydell 8386 13057 Mdlnlycke BS
40 4 1724.0 47.36 Hakan Nilsson - Agneta Oppenstam 1168 3910 Ljungskile BK
41 33 1661.6 45.65 Irma Petersen - |da Gronkvist 33038 31083 BK Lyx - Orebridgen
42 1 1661.3 45.64 Kijell Glans - Eva Glans 15295 8552 Orust BK
43 14 1659.5 45.59 Jan Ahlqvist - Berit Fors 10458 4807 BK Lyx
44 29 1658.3 45.56 Moa Petersen - Arne Eriksson 85317 12242 BK Lyx - Anderstorps BK
45 41 1657.9 45.55 Torbjorn Kareke - Agneta Kéreke 13038 5081 Bohus Nations BS
46 16 1654.3 45.45 Tore Mattsson - Robert Tell 5086 11678 Bohus Nations BS - Mdlnlycke BS
47 32 1653.4 45.42 Adam Kovasznay - Frank Lidstrom 50874 4815 Salamandern/Wasa
48 20 1626.8 44.69 Oscar Hult - Bengt-Ove Olausson 12879 29888 Frolunda BS
49 37 1608.7 44.20 KentLarsson - Kjell Berg 7660 13142 Tjorns BK
50 6 1598.5 43.91 Karin Nyberg - Ulla Berntsson 5059 11235 Asper6-Brannd BK
51 24 1567.7 43.07 Ingerun Syren-Sjosvéard - Patrik Johansson 33279 8899 BK Lyx - Skara BS
52 19 1556.8 42.77 Monica Karlsson - Birgitta Ternblad 13893 1981 FCTF:s BK Karlskrona - BK S:t Erik
53 17 14942 41.05 Britt Larsson - Olle Hedman 86952 310 Mdlinlycke BS - BK Tre Sang, Helsingborg
54 27 1440.6 39.58 Ann Bergqyvist - Bjorn Miller 32898 39230 Médindals BK
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Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
15 40 34DN= v7 530 52.0 0.0(23 32 6+ V-6 v9 300 520 0.0| 6 51 2¢vDV-2 &9 500 51.0 1.0
18 37 44 S= vA 420 50.0 2.0(15 40 3NV-2 +3 100 49.0 3.0(45 12 2vyDV-2 T 500 51.0 1.0
53 2 6¢ O-3 *A 150 48.0 4.0(28 27 2NV -2 +3 100 490 30| 8 49 3v V-3 a4 300 48.0 4.0
12 43 5¢ O-1 a4 50 430 90| 550 4v0-1 ¢ A 50 31.0 21.0(31 26 2v V-2 &T 200 46.0 6.0
13 42 5¢ O-1 a7 50 430 90| 6 49 4v V-1 v8 50 31.0 21.0 (14 43 34 N+1 vA 170 440 8.0
22 33 5¢ O-1 v5 50 430 90| 7 48 44 V-1 v7 50 31.0 21.0(24 33 44 S+1 *5 150 42.0 10.0
35 20 3¢ O-1 a7 50 430 90| 8 47 4v V-1 v8 50 310 210 1 3 24 N+1 vA 140 39.0 13.0
26 29 44 N-1 a2 -50 37.0 15.0(12 43 4v V-1 v7 50 31.0 21.0(16 41 24 N+1 vA 140 39.0 13.0
28 27 44 S-1 vA -50 37.0 15.0(13 42 4a4 V-1 v7 50 31.0 21.0(19 38 44 S= v7 130 35.0 17.0
550 3¢ O+1 a2 -130 33.0 19.0|18 37 4v O-1 *Q 50 310 21.0(54 2 3#S+1 vK 130 35.0 17.0
51 4 4¢ O= a7 -130 33.0 19.0|19 36 4v V-1 v9 50 31.0 21.0| 9 48 3¢ S= vK 110 31.0 21.0
54 1 4¢ O+1 a7 -150 30.0 22.0|22 33 4v V-1 v9 50 31.0 21.0(13 44 24 N= vA 110 31.0 21.0
6 49 3v V+2 a5 -200 28.0 24.0|24 31 4v V-1 v7 50 31.0 21.0( 7 50 2NS-1 vQ -50 19.0 33.0
7 48 5¢ O = v5 -400 16.0 36.0|30 25 44 V-1 v7 50 31.0 21.0(23 34 2NS-1 vQ -50 19.0 33.0
8 47 3NO= 43 -400 16.0 36.034 21 4v V-1 v8 50 31.0 21.0|25 32 2NS-1 vK -50 19.0 33.0
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9 46 3NO= a7 -400 16.0 36.0(38 17 4v O-1 &Q 50 31.0 21.0|29 28 2NS-1 aT -50 19.0 33.0
10 45 5¢ O= 46 -400 16.0 36.0 (44 11 4v V-1 v7 50 31.0 21.0|35 22 2NS-1 vK -50 19.0 33.0
19 36 3NV = a5 -400 16.0 36.0(51 4 44 V-1 +3 50 31.0 21.0|39 18 2NS-1 vK -50 19.0 33.0
24 31 3NO= a7 -400 16.0 36.0(53 2 4v V-1 v9 50 31.0 21.0|40 17 2NS-1 vK -50 19.0 33.0
30 25 5¢ O= a7 -400 16.0 36.0 (26 29 2NV = +5 -120 13.0 39.0(42 15 2N S-1 vK -50 19.0 33.0
34 21 3NO= 43 -400 16.0 36.0|54 1 INV+1 *3 -120 13.0 39.0(52 5 44 N-1 vA -50 19.0 33.0
38 17 3NO= a7 -400 16.0 36.0 (35 20 2v V+1 v9 -140 8.0 440(53 4 2NS-1 vQ -50 19.0 33.0
44 11 3NO= a7 -400 16.0 36.0 (41 14 3v V= *2 -140 8.0 44.0(10 47 3NS-2 v5 -100 4.0 48.0
52 3 3NO= a7 -400 16.0 36.0|52 3 3v V= v9 -140 8.0 44.0|11 46 44 N-2 vK -100 4.0 48.0
23 32 4y V+1 LY -450 3.0 490 9 46 4v O= LY -420 2.0 50.0 (20 37 44 N-2 vA -100 4.0 48.0
39 16 4v V+1 a4 -450 3.0 49.0(10 45 44 V= *3 -420 2.0 50.0 (27 30 3NS-2 vQ -100 4.0 48.0
41 14 3N O +2 *2 -460 0.0 52.0(39 16 44 V= +3 -420 2.0 50.0|36 21 3NS-2 vK -100 4.0 48.0
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7 50 5vDO-3 &A 800 520 0.0(20 39 34DO-2 ¥J 300 520 00| 7 52 64DV-1 v9 200 47.0 5.0
11 46 2N O -3 a] 300 490 3.0|26 33 3%V-3 vQ 150 5000 20| 8 51 64DV-1 v9 200 47.0 5.0
45 12 4v O-3 &Q 300 490 30| 2 4 24V-2 vK 100 42.0 10.0(10 49 64DV-1 ¥9 200 47.0 5.0
24 33 3v O-2 *Q 200 42.0 10.0|11 48 2N O -2 A 100 42.0 10.0 (14 45 64D O-1 &K 200 47.0 5.0
25 32 4v O-2 &Q 200 42.0 10.0 |12 47 24 V-2 vK 100 42.0 10.0(30 29 64D O-1 &A 200 47.0 5.0
35 22 4v O-2 a A 200 42.0 10.0(24 35 24 V-2 vK 100 42.0 10.0|40 19 5¢DO-1 «A 200 47.0 5.0
36 21 4v O-2 *Q 200 42.0 10.0|41 18 24 V-2 vQ 100 42.0 10.0|36 23 64 V-1 v9 100 39.0 13.0
52 5 4v 0-2 &Q 200 42.0 10.0|43 16 24 V-2 vK 100 42.0 10.0|54 3 6% V-1 v9 100 39.0 13.0
54 2 34 S+1 *A 170 36.0 16.0 (46 13 24 V-2 vK 100 42.0 10.0|15 44 5v S-2 &K -100 35.0 17.0

8 49 34 S= vA 140 340 180| 1 5 24 V-1 vQ 50 27.0 25.0|21 38 5¢vDS-1 «K -100 35.0 17.0

1 3 3v0-1 s A 100 20.0 32.0|10 49 24 V-1 vK 50 27.0 25.0|20 39 5¢vDS-2 &K -300 31.0 21.0

948 4v O-1 a3 100 20.0 32.0|17 42 24 V-1 vK 50 27.0 25.0|41 18 5¢vDS-2 &K -300 31.0 21.0
10 47 4v O-1 *Q 100 20.0 32.0(25 34 14 V-1 *J 50 27.0 25.0|43 16 6vyDS-3 #K -500 28.0 24.0
13 44 3v O-1 &Q 100 20.0 32.0|28 31 1la V-1 vK 50 27.0 25.0|11 48 5& O +1 7 -620 25.0 27.0
16 41 3v O-1 s A 100 20.0 32.0|37 22 24 V-1 vK 50 27.0 25.0|17 42 5&V +1 a7 -620 25.0 27.0
19 38 3v O-1 L JO) 100 20.0 32.0(40 19 24 V-1 vK 50 27.0 250| 9 50 5¢DO= aA -750 14.0 38.0
20 37 3v O-1 &Q 100 20.0 32.0|53 6 24 V-1 vK 50 27.0 25.0|12 47 54DV = v9 -750 14.0 38.0
23 34 3v0O-1 s A 100 20.0 32.0| 8 51 l1lea V= vK -80 17.0 35.0(24 35 5¢DO= &K -750 14.0 38.0
27 30 3vO-1 L JO) 100 20.0 32.0|14 45 1a V= vQ -80 17.0 35.0(25 34 54DV = v9 -750 14.0 38.0
29 28 4v O-1 &Q 100 20.0 32.0|15 44 INO= &6 90 14.0 38.0(26 33 5¢DO= &K -750 14.0 38.0
39 18 3v O-1 a A 100 20.0 32.0|32 27 2v N-1 a] -100 12.0 40.0(28 31 54DV = v9 -750 14.0 38.0
42 15 4v O -1 s A 100 20.0 32.0( 7 52 1e V+1 +3 -110 6.0 46.0|32 27 54DV = v9 -750 14.0 38.0
53 4 3v0-1 &Q 100 20.0 32.0|21 38 1la V+1 &T -110 6.0 46.0|46 13 54D O = LYy -750 14.0 38.0
40 17 34 S-1 *A -100 6.0 46.0(30 29 24 V= vK -110 6.0 46.0|53 6 5¢DO= a A -750 14.0 38.0

6 51 3y O= *Q -140 4.0 48.0(36 23 24 V= &T -110 6.0 46.0|37 22 4¢DO+1 &K -910 4.0 48.0
14 43 3vy O+1 s A -170 2.0 50.0|54 3 1a V+1 +3 -110 6.0 46.0| 1 5 54DV +1 45 -950 2.0 50.0
31 26 4v O= a A -620 0.0 52.0( 9 50 INO +3 &3 -180 0.0 52.0( 2 4 64DV= 7 -1540 0.0 52.0
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2 6 44 O-2 & 200 509 1.1|47 14 3NN+1 4Q 430 520 0.0]|23 40 6NV-1 vJ 100 51.0 1.0
38 23 44 V-2 +9 200 509 11| 1 7 3NN= &K 400 36.0 16.0(39 24 6NV -1 a2 100 51.0 1.0

9 52 2¢ S+2 +5 130 478 42| 2 6 3NN= vJ 400 36.0 16.0 (48 15 3% V +1 vJ -130 48.0 4.0

3 5 3¢S= 48 110 426 94| 3 5 3NN= &4 400 36.0 16.0 (12 51 3NV +2 vJ -660 41.0 11.0
13 48 2# S +1 &2 110 426 94| 8 53 3NN= vQ 400 36.0 16.0 (13 50 3NV +2 vlJ -660 41.0 11.0
31 30 2¢ S+1 48 110 426 9.4)10 51 3NN= oK 400 36.0 16.0|22 41 3NV +2 vJ -660 41.0 11.0
42 19 2& N+1 7 110 426 9.4|13 48 3NN= vQ 400 36.0 16.0 (26 37 3NV +2 vJ -660 41.0 11.0
41 20 34 V-1 +9 100 36.4 156 |15 46 3NN= v7 400 36.0 16.0 (27 36 3NV +2 vlJ -660 41.0 11.0
44 17 34 V-1 +9 100 36.4 15616 45 3NN= &K 400 36.0 16.0(54 5 3NV +2 vJ -660 41.0 11.0
54 4 1a V= v2 -80 33.3 18.7(21 40 3NN= vQ 400 36.0 16,0 2 8 3NV +3 vJ -690 27.0 25.0
25 36 INS-1 a8 -100 30.2 21.8(22 39 3NN= vQ 400 36.0 16.0f 3 7 3NV +3 vlJ -690 27.0 25.0
47 14 2v N-1 *2 -100 30.2 21.8(26 35 3NN= vQ 400 36.0 160 4 6 3NO+3 vT -690 27.0 25.0

1 7 24V= &5 -110 20.8 31.2(29 32 3NN= &K 400 36.0 16.0 |11 52 3N O +3 vJ -690 27.0 25.0
11 50 14 O+1 & -110 20.8 31.2(31 30 3NS= v2 400 36.0 16.0 (17 46 3NV +3 vlJ -690 27.0 25.0
15 46 24 V= *J -110 20.8 31.2|42 19 3NN= +9 400 36.0 16.0 (19 44 3NV +3 vJ -690 27.0 25.0
16 45 24 V= & -110 20.8 31.2(54 4 3NN= +8 400 36.0 16.0 (30 33 5NV +1 vJ -690 27.0 25.0
22 39 3¢ V= &6 -110 20.8 31.2 (44 17 24DV -2 &K 300 20.0 32.0|38 25 4NV +2 vlJ -690 27.0 25.0
26 35 24 V= *J -110 20.8 31.2| 9 52 INN+3 a] 180 17.0 35.0(32 31 3NV +4 vJ -720 18.0 34.0
27 34 24 V= & -110 20.8 31.2 (37 24 2NN +2 a4 180 17.0 35.0|28 35 6# V= vJ -1370 16.0 36.0

8 53 24 O +1 v4 -140 9.4 426 (12 49 44 S= vA 130 11.0 41.0| 9 1 6NO= vlJ -1440 9.0 43.0
18 43 34 V= *J -140 9.4 42.6|18 43 44 N= vQ 130 11.0 41.0(10 53 6NV = vlJ -1440 9.0 43.0
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29 32 24 O+l v4 -140 9.4 42.6|33 28 44 N= vQ 130 11.0 41.0(14 49 6NV = vJ -1440 9.0 43.0
33 28 24 O+1 v4 -140 9.4 42638 23 3& N+1 vQ 130 11.0 41.0(34 29 6NV = vJ -1440 9.0 43.0
10 51 INO +2 *4 -150 3.2 48.8|27 34 3# N= vJ] 110 6.0 46.042 21 6NV = vJ -1440 9.0 43.0
12 49 1INV +2 &J -150 3.2 48.8|11 50 3v O-2 v3 100 3.0 49.0|45 18 6NO = *2 -1440 9.0 43.0
21 40 2v N-2 .7 -200 0.0 52.0|25 36 2¢DO-1 +3 100 3.0 49.0|16 47 6NDV = vJ -1680 1.0 51.0
37 24 A+/A+ 31.2 31.2|41 20 5% S-2 vA -100 0.0 52.0|43 20 6NDV = 43 -1680 1.0 51.0
10 496 11 4 K9862 12 +« EKn865
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¢+E ¢ Kn9g7 ¢ DKn743
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 7 64D0O-2 49 500 520 00| 5 7 3NO-2 &4 100 510 10| 3 9 54DO-4 &K 800 52.0 0.0
4 6 5&V-1 +9 100 48.0 4.0|35 30 4v V-2 &3 100 51.0 1.0(20 45 44 N+1 &K 650 50.0 2.0
13 50 5& V-1 v4 100 480 40 3 9 3NV-1 &4 50 39.0 13.0|46 19 3NS+1 v4 630 48.0 4.0
30 33 5#0-1 *A 100 480 40(11 1 4v0-1 *A 50 39.0 13.0( 4 8 44 N= *A 620 32.0 20.0
22 41 24 O= &K -90 42.0 10.0(13 52 4y V-1 &4 50 39.0 13.0| 5 7 44 N= &A 620 32.0 20.0
39 24 2¢ V= &K -90 42.0 10.0 (18 47 3NV-1 &4 50 39.0 13.0(11 1 44 N= &K 620 32.0 20.0
45 18 2¢ O= *A -90 42.0 10.0(24 41 4v O-1 *A 50 39.0 13.0(13 52 44 N= *A 620 32.0 20.0
28 35 3# V= 8 -110 38.0 14.0|31 34 4v V-1 *2 50 39.0 13.0|14 51 44 N= A 620 32.0 20.0
9 1 340+1 +3 -130 33.0 19.0|44 21 4v O-1 A 50 39.0 13.0|15 50 44 N= *A 620 32.0 20.0
32 31 32 0+1 vK -130 33.0 19.0|46 19 4v O-1 *A 50 39.0 13.0 (18 47 44 N= *A 620 32.0 20.0
43 20 44 V= *2 -130 33.0 19.049 16 4v O-1 A 50 39.0 13.0(|24 41 44 N= &K 620 32.0 20.0
48 15 3# O +1 v2 -130 33.0 19.0(54 6 3NO-1 A 50 39.0 13.0 (28 37 44 N= *A 620 32.0 20.0
54 5 1INV +3 2 -180 28.0 240| 4 8 2v V= v3 -110 28.0 24.0|31 34 44 N= &K 620 32.0 20.0
11 52 2¢vyDN-1 +¢5 -200 23.0 29.0|23 42 2NV = &4 -120 26.0 26.0|35 30 44 S= &A 620 32.0 20.0
16 47 2¢vDS-1 +5 -200 23.0 29.0|17 48 3v O= &K -140 24.0 28.0|39 26 44 N= &K 620 32.0 20.0
17 46 2vyDN-1 «Q -200 23.0 29.0|33 32 2v V +2 a2 -170 22.0 30.0 |40 25 44 N= &K 620 32.0 20.0
34 29 2vDN-1 &A -200 23.0 29.0|12 53 2&4DN-2 T -300 20.0 32.0|44 21 44 N= &A 620 32.0 20.0
2 8 3NV= v2 -600 18.0 34.0(10 2 4y V= A -420 10.0 42.0|54 6 44 N= 2K 620 32.0 20.0
10 53 3NV +1 49 -630 9.0 43.0|14 51 4v V= 46 -420 10.0 42.0|43 22 4vDV-3 &A 500 16.0 36.0
12 51 4NV = 49 -630 9.0 43.0|15 50 4v O= aT -420 10.0 42.0|29 36 50O o K 200 14.0 38.0
14 49 3NV +1 *4 -630 9.0 43.0|27 38 4v O= T -420 10.0 42.0|23 42 34 N+1 A 170 12.0 40.0
19 44 3NV +1 +8 -630 9.0 43.0|28 37 4v O= *A -420 10.0 42.0|10 2 INV-3 46 150 10.0 42.0
23 40 3NV +1 2 -630 9.0 43.0(29 36 4y V= a2 -420 10.0 42.0|33 32 34 N= &A 140 8.0 44.0
26 37 3NO+1 A -630 9.0 43.0|39 26 4y O= &K -420 10.0 42.0(12 53 4v¥ N-1 A -100 4.0 48.0
27 36 3NV +1 2 -630 9.0 43.0|40 25 4v V= &4 -420 10.0 42.0|17 48 34 N-1 &K -100 4.0 48.0
38 25 3NV +1 +8 -630 9.0 43.0(43 22 4y V= v3 -420 10.0 42.0(49 16 44 N-1 A -100 4.0 48.0
42 21 2¢RDO= &2 -760 0.0 52.0|20 45 4v V +1 a2 -450 0.0 52.0|27 38 44 N-2 *A -200 0.0 52.0
13 #7652 14 49 15 45
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Alla ¢ Kn108432 Ingen + ED98 NS 4109843
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.- + E975 ¢+ Kn32 ¢ K6 * K7 + ED2
#EK94 #D10653 #E974 #DKn2 #5432 &D7
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+ KD6 + 10754 + Kn65
#Kn87 83 #Kn8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
50 17 4v O -3 v4 300 52.0 0.0(47 20 24aDO-4 +vQ 800 520 0.0(12 4 24 S= vJ 110 51.0 1.0
4 10 2¢DN= *3 180 49.0 3.0(16 51 24 S= *2 110 38.0 14.0|45 24 24 S= vQ 110 51.0 1.0
29 38 2¢DN= aT 180 49.0 3.0(18 49 24 S= 2 110 38.0 14.0(35 34 4v V-1 *A 50 47.0 5.0
12 2 2v V-1 &2 100 450 7.0|21 46 24 N= *Q 110 38.0 14.0|42 27 4v V-1 a5 50 47.0 5.0
54 7 3NO-1 v4 100 450 7.0|24 43 24 S= *2 110 38.0 140| 6 10 24 S-1 v3 -100 35.0 17.0
19 48 4v S-1 *7 -100 42.0 10.0|28 39 2¢ N +1 *Q 110 38.0 140 7 9 24 S-1 vQ -100 35.0 17.0
9 5 2v0+1 + K -140 39.0 13.0(30 37 3¢ S= A 110 38.0 14.0|16 53 24 S-1 s A -100 35.0 17.0
44 23 1s V +2 *2 -140 39.0 13.0|32 35 2¢ S+1 vA 110 38.0 14.0|17 52 24 S-1 vQ -100 35.0 17.0
21 46 3% O +2 *+K -150 35.0 17.0|34 33 24 N= v7 110 38.0 14.0(19 50 24 S-1 vQ -100 35.0 17.0
40 27 3% O +2 vA -150 35.0 17.0(36 31 24 S= v3 110 38.0 14.0|26 43 24 S-1 +K -100 35.0 17.0
6 8 24 V+2 *2 -170 26.0 26.0 |40 27 2¢ N+1 *Q 110 38.0 14.0|33 36 24 S-1 vQ -100 35.0 17.0
30 37 24 O+2 +J -170 26.0 26.0 |45 22 24 S= 2 110 38.0 14.0 (46 23 24 S-1 + K -100 35.0 17.0
34 33 3v O+l v2 -170 26.0 26.0 |50 17 24 S= a5 110 38.0 14.0|51 18 24 S-1 v7 -100 35.0 17.0
36 31 14 V+3 vQ -170 26.0 26.0|54 7 2¢ N+1 43 110 38.0 140(54 8 24 S-1 v3 -100 35.0 17.0
41 26 2v V+2 »2 -170 26.0 26.0| 6 8 2v O-2 4Q 100 230 29.0(13 3 3vO= & K -140 22.0 30.0
45 22 3v V+1 &2 -170 26.0 26.0|11 3 2y O-2 &K 100 23.0 29015 1 3y V= a5 -140 22.0 30.0
47 20 14 O +3 *J -170 26.0 26.0| 4 10 INN= *Q 90 18.0 34.0(31 38 3vy O= oK -140 22.0 30.0
14 53 24 V +3 vQ -200 14.0 38.0|29 38 INN= v7 90 18.0 34.0|14 2 3v V+1 a5 -170 18.0 34.0
18 49 3¢DS-1 4K -200 14.0 38.0|44 23 INN= *Q 90 18.0 34.0(20 49 44 S-2 vQ -200 15.0 37.0
24 43 3¢DS-1 &K -200 14.0 38.0| 9 5 1a N= vA 80 14.0 38.0 (37 32 34 S-2 +K -200 15.0 37.0
28 39 34 O+2 48 -200 14.0 38.0|12 2 14 O-1 vQ 50 9.0 43.0(|22 47 4v V= *A -420 9.0 43.0
32 35 24 V+3 vQ -200 14.0 38.0|14 53 INV-1 +8 50 9.0 43.0|29 40 4y V= a5 -420 9.0 43.0
11 3 3¢DN-2 T -500 7.0 45.0|15 52 INV-1 »6 50 9.0 43.0|30 39 4v V= A -420 9.0 43.0
13 1 3¢DN-2 T -500 7.0 45.0|19 48 INV-1 49 50 9.0 43.0|41 28 4v V= &K -420 9.0 43.0
16 51 5 O = + K -600 3.0 49013 1 24 S-1 v3 -50 3.0 49.0(25 44 3vyDV= A -530 4.0 48.0
25 42 54 V= vQ -600 3.0 49.0|41 26 2NN-1 v6 -50 3.0 490 5 11 2¢yDO+1 45 -570 2.0 50.0
15 52 3NO +1 + K -630 0.0 52.0|25 42 INV= v5 -90 0.0 52.0|48 21 5¢DS-3 vQ -800 0.0 52.0
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16 LY, 17 « D9865 18 &K
Vast v Kn1092 Nord vD Ost v K53
ov ¢ 9754 Ingen + K5 NS + D8652
&#Kn872 &#E7653 #D1052
4 Knl063 4 EKD97 a742 & EKn3 «ED932 4Knl10876
v874 v ED5 v 106 v EK532 v74 v EKn8
¢ KKn32 ¢ D1086 ¢ E10763 ¢ 942 ¢+ Kn74 ¢ K93
&E9 *6 #1042 #Kn9 #943 »76
852 4 K10 «54
v K63 v Kn9874 vD10962
¢E + DKn8 ¢ E10
#KD10543 &#KD8 &EKKN8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 1 64 O-2 &K 200 51.0 1047 24 2vyDO-4 +Q 800 520 0.0|23 48 4vDS= &3 790 520 0.0
41 28 6¢ V-2 &9 200 51.0 10| 6 12 2vDO-3 &K 500 490 30|15 3 4v S= &3 620 46.0 6.0
13 3 54 0-1 &K 100 440 80|42 29 2¢vDO-3 &K 500 490 3.0|18 53 4v S= *4 620 46.0 6.0
25 44 54 O-1 *A 100 440 80|32 39 3NS+1 vT 430 440 80|38 33 4y S= v7 620 46.0 6.0
31 38 54 O-1 *A 100 440 80|34 37 3NS+1 vT 430 440 80|43 28 4y S= aA 620 46.0 6.0
33 36 54 O-1 *A 100 440 80|36 35 3NS+1 vT 430 440 8.0(52 19 4y S= aA 620 46.0 6.0
54 8 54 0-1 *A 100 440 80|13 5 3NS= vT 400 38.0 14016 2 44DO-3 &A 500 37.0 15.0
6 10 54DS-1 &J -100 31.0 21.0(21 50 3NS= vT 400 38.0 14.0|21 50 44DV-3 ¢3 500 37.0 15.0
7 9 54DS-1 46 -100 31.0 21.0|52 19 3NS= vT 400 38.0 14.0|34 37 44DV-3 vK 500 37.0 15.0
22 47 54DS-1 4] -100 31.0 21.0|23 48 2vDO-2 &K 300 33.0 19.0|46 25 44DV-3 v3 500 37.0 15.0
26 43 54D S-1 #A -100 31.0 21.0|43 28 3¢DO-2 K 300 33.0 190| 6 12 44DV-2 ¢¥K 300 27.0 25.0
30 39 54DS-1 &J -100 31.0 21.0|17 1 3vO-4 &K 200 29.0 23.0|14 4 44DV-2 K 300 27.0 25.0
37 32 54DS-1 4 -100 31.0 21.0|18 53 3v O -4 oK 200 29.0 23.0|17 1 44DV-2 ¥3 300 27.0 25.0
45 24 54D S-1 4] -100 31.0 21.0| 7 11 24 N+2 vA 170 240 28.0|26 45 44D 0O -2 &K 300 27.0 25.0
51 18 54DS-1 43 -100 31.0 21.0(15 3 14 N+3 vA 170 24.0 28.0|27 44 44DV -2 v3 300 27.0 25.0
46 23 54D S-2 4] -300 22.0 30.0|20 51 24 N +2 vA 170 24.0 28.0(32 39 44DV-2 ¥3 300 27.0 25.0
19 50 44 O= A -620 20.0 32.0| 8 10 2NS+1 vT 150 15.0 37.0|42 29 2v S+2 *4 170 20.0 32.0
511 54 O= &K -650 10.0 42.0|14 4 2v O-3 &K 150 15.0 37.0| 7 11 44DV-1 3 100 12.0 40.0
12 4 44 O+1 &K -650 10.0 42.0|16 2 2v O-3 oK 150 15.0 37.0( 8 10 34 V-2 v3 100 12.0 40.0
14 2 54 O= &Q -650 10.0 42.0|31 40 2v O-3 &K 150 150 37.0(13 5 4a V-2 v3 100 12.0 40.0
16 53 44 O+1 *A -650 10.0 42.0(49 22 2v O-3 &K 150 15.0 37.0|20 51 34D O-1 #A 100 12.0 40.0
17 52 44 O +1 &K -650 10.0 42.0|54 9 24 V-3 vQ 150 15.0 37.0(30 41 34 O-2 v5 100 12.0 40.0
20 49 44 O+1 *A -650 10.0 42.0(26 45 34 N= vK 140 8.0 44049 22 34 V-2 v3 100 12.0 40.0
29 40 44 O+1 &K -650 10.0 42.0|38 33 3& N +1 vA 130 6.0 46.0(54 9 4ea V-2 v3 100 12.0 40.0
35 34 44 O+1 &K -650 10.0 42.0|46 25 3¢DV-1 ¢Q 100 4.0 48.0|31 40 34 V-1 v3 50 3.0 49.0
48 21 54 O= *A -650 10.0 42.0(27 44 3NS-1 +3 550 1.0 51.0(47 24 34 O-1 v3 50 3.0 49.0
42 27 54D O = &K -850 0.0 52.0(30 41 3NS-1 vT -50 1.0 51.0(36 35 5v S-1 a A -100 0.0 52.0
19 & D42 20 « K107 21 « EDKn843
Syd v KKn652 Vast v 752 Nord v 975
ov + K98 Alla + K5 NS + EKD9
&ED #KKn1094 »-
#93 & Kn1086 aDKn5 & E8632 497 465
vE943 vD1087 vEDKn6 v1084 vKn842 v63
¢+ Kn64 ¢ 107 42 + EKn6 41084 ¢ Kn53
#7652 &K43 &#D653  #82 &#D976 #Knl108542
& EK75 494 « K102
v- v K93 vEKD10
¢+ ED532 + D109873 762
#Kn1098 &E7 &#EK3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
39 34 3NN+3 &K 490 51.0 10|14 6 24 O-1 &A 100 46,0 6.0 9 13 /NS= v3 2220 37.0 15.0
53 20 3NS+3 &2 490 510 10(17 3 24 0-1 +8 100 46.0 6.0|18 4 7TNN= &T 2220 37.0 15.0
7 13 3NN +2 aJ 460 29.0 23.0|19 1 24 0-1 A 100 46.0 6.0|20 2 7NS= &7 2220 37.0 15.0
8 12 3NS+2 &6 460 29.0 23.0(22 51 34 O-1 &A 100 46.0 6.0(22 53 7NS= a7 2220 37.0 15.0
14 6 3NN+2 46 460 29.0 23.0(35 38 24 O-1 +9 100 46.0 6.0(23 52 7TNS= a9 2220 37.0 15.0
15 5 3NN+2 v8 460 29.0 23.0|37 36 34 O-1 A 100 46.0 6.0|25 50 7NS= v3 2220 37.0 15.0
16 4 3NS+2 &5 460 29.0 23.0|43 30 24 O-1 &A 100 46.0 6.0(29 46 7'NS= *4 2220 37.0 15.0
17 3 3NN+2 a] 460 29.0 23.0| 9 11 2¢ S= &K 90 38.0 14.0(32 43 7NS= +3 2220 37.0 15.0
18 2 3NN+2 48 460 29.0 23.0|15 5 24 O= A -110 34.0 18.0|34 41 7NN= 49 2220 37.0 15.0
19 1 3NN+2 aT 460 29.0 23.0(33 40 24 O = &4 -110 34.0 18.0(36 39 7NS= 49 2220 37.0 15.0
21 52 3NN +2 a] 460 29.0 23.0|44 29 24 O= +9 -110 34.0 18.0(38 37 7NS= a9 2220 37.0 15.0
27 46 3NN +2 aJ 460 29.0 23.0(18 2 INV+1 &T -120 29.0 23.0|40 35 7NS= 49 2220 37.0 15.0
31 42 3NN +2 &3 460 29.0 23.0(21 52 1INV +1 &T -120 29.0 23.0(45 30 7NS= &6 2220 37.0 15.0
32 41 3NN +2 oT 460 29.0 23.0( 8 12 24 O+1 +9 -140 20.0 32.0(49 26 7NS= &6 2220 37.0 15.0
33 40 3NN +2 aJ 460 29.0 23.0(16 4 24 V+1 v2 -140 20.0 32.0|51 24 7NN= »2 2220 37.0 15.0
35 38 3N S +2 &3 460 29.0 23.0|28 45 2s V +1 +9 -140 20.0 32.0(54 11 7NS= 49 2220 37.0 15.0
37 36 3NN +2 aJ 460 29.0 23.0(32 41 24 O+1 SA -140 20.0 320 1 21 74 S= &7 2210 16.0 36.0
43 30 3NN +2 v7 460 29.0 23.0|48 25 34 O = LY.\ -140 20.0 32.0|15 7 74 N= v5 2210 16.0 36.0
47 26 3NN +2 43 460 29.0 23.0(50 23 24 O+1 &A -140 20.0 32.0(17 5 74 N= 46 2210 16.0 36.0
48 25 3NN +2 aJ 460 29.0 23.0|54 10 24 V+1 &T -140 20.0 32.0(44 31 74 N= 46 2210 16.0 36.0
50 23 3NN +2 a4 460 29.0 23.0(24 49 24 O +2 49 -170 10.0 42.0|48 27 74 N= &4 2210 16.0 36.0
54 10 3NS+2 »2 460 29.0 23.0|27 46 24 V +2 v2 -170 10.0 42.0| 8 14 6NS+1 v2 1470 8.0 44.0
22 51 3NN+1 v8 430 6.0 46.0|39 34 24 V +2 *T -170 10.0 42.0|10 12 6NS+1 +5 1470 8.0 44.0
24 49 3NN +1 *3 430 6.0 46.0|53 20 3¢ S-2 *2 -200 6.0 46.0|28 47 6NN +1 »2 1470 8.0 44.0
44 29 3NN +1 &2 430 6.0 46.0 31 42 3% N-3 &2 -300 4.0 48.0(19 3 64 N+1 &J 1460 3.0 49.0
28 45 44 S= v4 420 2.0 50.0| 7 13 3«aDN-3 v4 -800 1.0 51.0(33 42 64 N+1 v3 1460 3.0 49.0
9 11 3NN= v8 400 0.0 52.0|47 26 3NDN-3 &3 -800 1.0 51.0|16 6 5v S+1 &5 680 0.0 52.0
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22 « EKn43 23 102 24 + EK9
Ost vD1072 Syd v KD97 Vast v 1043
oV ¢ DKn1052 Alla + KKn103 Ingen ¢ E109753
»- D95 &E
4 D109652 & K7 «E87 &KD954 4Kn42 4 D10865
v 95 v EKn vE852 v4 v D76 v E82
¢ E 49876 4654 ¢972 + D82 +6
#KD54 #E10972 #862 &#KKnl07 #DKn92 #K853
48 4« Kn63 473
v K8643 vKn1063 v KKn95
¢ K43 + ED8 + KKn4
#Kn863 &E43 £10764
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
33 42 4vyDN+1 &K 690 520 00|18 6 44DO-1 ¥6 200 520 0.0| 2 22 3NN+3 a5 490 50.0 2.0
20 2 4vDS= &K 590 50.0 2017 7 3vS= s A 140 48.0 4.0(23 1 3NN+3 46 490 50.0 2.0
18 4 54DO-2 ¢3 500 46.0 6.0(23 1 2v S+1 s A 140 48.0 4.0|52 25 3NN +3 a2 490 50.0 2.0
38 37 54DO-2 3 500 46.0 6.0(54 12 3v S= s A 140 48.0 4.0(30 47 3NN+1 a2 430 450 7.0
48 27 54D O-2 ¢3 500 46.0 60| 9 15 3v N-1 43 -100 33.0 19.0|46 31 3NN +1 a4 430 450 7.0
45 30 4v S= *A 420 42.0 10.0|10 14 4v S-1 a5 -100 33.0 19.0|18 6 3NN= 46 400 39.0 13.0
40 35 44DO-1 ¢Q 200 40.0 12.0(11 13 3v N-1 s K -100 33.0 19.0|21 3 3NN= a5 400 39.0 13.0
121 44V-1 +J 100 350 17.0(19 5 3vS-1 *2 -100 33.0 19.0|26 51 3NN= a5 400 39.0 13.0
9 13 44 O-1 *6 100 35.0 17.0|/20 4 3v N-1 oK -100 33.0 19.0|35 42 3NN= &5 400 39.0 13.0
10 12 44 V-1 +Q 100 35.0 17.0(34 43 3y N-1 s K -100 33.0 19.0| 9 15 INN+3 v3 180 32.0 20.0
16 6 44 V-1 +Q 100 35.0 17.0(35 42 3v S-1 *2 -100 33.0 19.0|10 14 1NN +3 4Q 180 32.0 20.0
44 31 3+ 0 +1 a5 -130 30.0 22.0|39 38 3v N-1 & K -100 33.0 19.0|50 27 2NN +2 46 180 32.0 20.0
22 53 34 V= v7 -140 28.0 24.0|41 36 3v N-1 s A -100 33.0 19.0|17 7 3¢ N+2 8 150 28.0 24.0
19 3 24 V+2 +Q -170 24.0 28.0|45 32 3v S-1 s A -100 33.0 19.0 |11 13 3¢ N+1 a7 130 21.0 31.0
25 50 24 V +2 v7 -170 24.0 28.0|46 31 3v S-1 v2 -100 33.0 19.0|29 48 3¢ N+1 43 130 21.0 31.0
54 11 24 V+2 +Q -170 24.0 28.0|50 27 3v N-1 & K -100 33.0 19.0|37 40 3¢ N+1 a5 130 21.0 31.0
29 46 44 V= +Q -620 17.0 35.0|37 40 24 O= v] -110 20.0 32.0|41 36 3¢ N+1 46 130 21.0 31.0
32 43 44 V= +Q -620 17.0 35.0|21 3 34 O= vJ -140 16.0 36.0|49 28 3¢ N+1 a5 130 21.0 31.0
49 26 44 V= +Q -620 17.0 35.0|24 53 24 O +1 43 -140 16.0 36.0 |54 12 2¢ N+2 a5 130 21.0 31.0
51 24 44 V= v7 -620 17.0 35.0(33 44 24 O +1 v] -140 16.0 36.0|16 8 5¢ N-1 48 -50 8.0 44.0
23 52 44 V+1 +Q -650 12.0 40.0| 2 22 4y N-2 oK -200 8.0 44019 5 5¢ N-1 &5 -50 8.0 44.0
8 14 44DV= v7 -790 5.0 47.0|16 8 3vyDN-1 4K -200 8.0 44.0|20 4 3NS-1 a2 -50 8.0 44.0
15 7 44DV= +Q -790 5.0 47.0|26 51 4v S-2 *4 -200 8.0 44.0|24 53 3NS-1 *0Q -50 8.0 44.0
17 5 44DV= +Q -790 5.0 47.0|30 47 4v N-2 &K -200 8.0 44.0(33 44 5¢ N-1 a5 -50 8.0 44.0
28 47 44DV = +Q -790 5.0 47.0|49 28 4v S-2 s A -200 8.0 44.0|34 43 3NN-1 a5 -50 8.0 44.0
34 41 44DV = v2 -790 5.0 47.0|52 25 4vDN-2 K -500 2.0 50.0|45 32 3NN-1 46 -50 8.0 44.0
36 39 44DV = v7 -790 5.0 47.0|29 48 34D O = vJ -730 0.0 52.0|39 38 34aDN-3 ¢4 -500 0.0 52.0
25 4 Kn75 26 «E74 27 + EK5
Nord v KKn10732 Ost vE84 Syd v754
oV ¢ 10843 Alla ¢ Kn2 Ingen +9
»- #D10943 #EKKn542
4E864 4K32 41096 D32 4D1086 4932
vED v 86 v 103 v D52 vKn9 v K32
¢ EKKn6 ¢ D97 ¢ EK754 ¢ D1093 ¢ KKn82 ¢ D106543
#E109 #DKn875 &E62 &Kn75 #983 D
« D109 # KKn85 & Kn74
v 954 v KKn976 v ED1086
¢ 52 + 86 ¢ E7
#K6432 K8 #1076
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
46 33 54D 0O -2 v4 500 520 00|20 6 4vy N= *T 620 51.0 10| 4 24 6v S= +5 980 48.0 4.0
12 14 4¢vDS-2 +A -300 47.0 5.0|35 44 4v S= *A 620 51.0 1.0|28 53 6v S= 8 980 48.0 4.0
22 4 4vyDN-2 42 -300 47.0 5.0|34 45 2¢ V-2 &T 200 48.0 4.0(31 50 6v S= *9 980 48.0 4.0
36 43 4vDS-2 +A -300 47.0 50| 3 23 3v S+l *A 170 36.0 16.0 (35 46 6v S= a2 980 48.0 4.0
42 37 4vDS-2 +A -300 47.0 5.0|11 15 3vy N+1 *A 170 36.0 16.0 (43 38 6v S= +8 980 48.0 4.0
30 49 4vyDN-3 7 -500 41.0 11.0|12 14 24 N+2 +9 170 36.0 16.0 (51 30 6% N = +5 920 42.0 10.0
40 39 4vDN-3 43 -500 41.0 11.0|24 2 3v S+1 + K 170 36.0 16.0 1 27 4v S+3 v9 510 39.0 13.0
11 15 54 O = v3 -600 38.0 14.0|27 52 3v S+1 *A 170 36.0 16.0 (47 34 4v S+3 vJ] 510 39.0 13.0
18 8 3NV +1 a5 -630 35.0 17.0|31 48 3v S+1 *A 170 36.0 16.0(22 6 3NS+3 2 490 36.0 16.0
47 32 3NO+1 *4 -630 35.0 17.0|42 37 3v S+1 *A 170 36.0 16.0 (11 17 4v N +2 48 480 26.0 26.0
3 23 3NV +2 *4 -660 20.0 32.0|46 33 3v S+1 *A 170 36.0 16.0 (12 16 5v S+1 8 480 26.0 26.0
10 16 3NV +2 +3 -660 20.0 32.0|50 29 2v S +2 *A 170 36.0 16.0 (13 15 4v S+2 48 480 26.0 26.0
17 9 3NV +2 *4 -660 20.0 32.0|51 28 3v S+1 *A 170 36.0 16.0|23 5 5v S+1 48 480 26.0 26.0
19 7 3NV +2 +3 -660 20.0 32.0|53 26 3v S+1 *+K 170 36.0 16.0(25 3 4v S+2 8 480 26.0 26.0
21 5 3NV+2 *4 -660 20.0 32.0|36 43 1NN +2 a5 150 24.0 28.0|36 45 4y S+2 2 480 26.0 26.0
24 2 3NV +2 *4 -660 20.0 32.0|10 16 3v S= *A 140 17.0 35.0|48 33 4v S+2 +8 480 26.0 26.0
25 1 3NV +2 a5 -660 20.0 32.0|21 5 3v S= *A 140 17.0 35.0|52 29 4y S+2 v5 480 26.0 26.0
31 48 3NV +2 *4 -660 20.0 32.0|22 4 24 S+1 + K 140 17.0 35.0|54 14 4y S+2 46 480 26.0 26.0
35 44 3N O +2 a2 -660 20.0 32.0|30 49 3v S= *A 140 17.0 35.0(18 10 3N S+2 *2 460 16.0 36.0
50 29 3NV +2 *4 -660 20.0 32.0|38 41 3v S= *A 140 17.0 35.0|21 7 4v S+1 *4 450 10.0 42.0
51 28 3NV +2 +5 -660 20.0 32.0|54 13 2v S+1 *A 140 17.0 35.0|26 2 4v S+1 *9 450 10.0 42.0
53 26 3NV +2 a5 -660 20.0 32.0|25 1 34 S+1 +3 130 10.0 42.0 (37 44 4v S+1 +8 450 10.0 42.0
54 13 3NV +2 vT -660 20.0 32.0|18 8 INN= *2 90 7.0 45.0(39 42 4v S+1 +8 450 10.0 42.0
20 6 3NV +3 v7 -690 3.0 49.0|40 39 INN= *T 90 7.0 45.041 40 4v S+1 + K 450 10.0 42.0
27 52 3NV +3 v2 -690 3.0 49.0|17 9 4vS-1 *A -100 3.0 49.0|/20 8 3NN+1 +5 430 4.0 48.0
34 45 3NV +3 vJ] -690 3.0 49.0|47 32 INN-1 3 -100 3.0 49.0|19 9 4v S= 8 420 2.0 50.0
38 41 4NV +2 vT -690 3.0 49.0|19 7 3NN-2 +9 -200 0.0 52.0|32 49 4v S-1 48 -50 0.0 52.0
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28 « EDG3 29 + EK8 30 #1082
Vast vD108 Nord vKnl1054 Ost v 10765
NS ¢ DKn Alla + E10764 Ingen ¢ DKn85
#KD102 *6 D8
4 Kn875 494 4107 49654 494 & EK753
vE2 v KKn6 vE976 vD2 vE9832 v KDKn
+ K98 + E10763 ¢ KDKn5 ¢ 983 +73 + K42
#8764 #EKn5 #Knl05 &D842 210754 #Kn2
» K102 « DKn32 « DKn6
v 97543 v K83 v4
¢ 542 2 + E1096
93 #EK973 #EK963
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
47 34 2v S= *7 110 520 0.0(22 8 44 S+1 + K 650 50.0 2.0(12 18 4vyDV-2 +¢Q 300 52.0 0.0
13 15 14 N= *A 80 49.0 3.0(26 4 44 S+1 +Q 650 50.0 20(26 4 3&S-= 46 110 50.0 2.0
22 6 14 N= a7 80 49.0 3.0(42 41 44 S+1 +Q 650 500 20| 525 3v V-2 *Q 100 43.0 9.0
11 17 2v N-1 49 -100 43.0 9.0| 2 28 3NN +1 a2 630 43.0 9.0(33 50 34 O-2 v4 100 43.0 9.0
12 16 2v S-1 49 -100 43.0 9.0|21 9 3NN+1 vQ 630 43.0 9.0(38 45 3v V-2 +Q 100 43.0 9.0
23 5 2vS-1 a7 -100 43.0 9.0|36 47 3NN+1 vQ 630 43.0 9.0|42 41 24 O-2 &A 100 43.0 9.0
48 33 2v N-1 49 -100 43.0 9.0|52 31 3NN+1 a2 630 43.0 9.0(52 31 3v V-2 *Q 100 43.0 9.0
21 7 3¢ O+1 v3 -130 35.0 17.0| 5 25 44 S= + K 620 35.0 17.0 (53 30 4v V-2 +Q 100 43.0 9.0
36 45 2¢ O+2 #9 -130 35.0 17.0|23 7 44 S= *+K 620 35.0 17.0| 2 28 3v V-1 +Q 50 29.0 23.0
39 42 3¢ O+1 *9 -130 35.0 17.0|24 6 44 S= +Q 620 35.0 17.0(13 17 2v V-1 *Q 50 29.0 23.0
54 14 2¢ V+2 &K -130 35.0 17.0|33 50 44 S= + K 620 35.0 17.0(14 16 3v V-1 &K 50 29.0 23.0
18 10 2v N-2 49 -200 22.0 30.0|14 16 3NN= vQ 600 26.0 26.0(22 8 3v V-1 *Q 50 29.0 23.0
19 9 INN-2 +3 -200 22.0 30.0|29 1 3NN= vQ 600 26.0 260|124 6 2v V-1 *Q 50 29.0 23.0
25 3 2v N-2 49 -200 22.0 30.0|44 39 3NN= a5 600 26.0 26.0|32 51 3v V-1 48 50 29.0 23.0
28 53 3v N-2 49 -200 22.0 30.0|49 34 3NN= &2 600 26.0 26.0(48 35 3v O-1 &A 50 29.0 23.0
37 44 3v S-2 +8 -200 22.0 30.0|54 15 3NN= 43 600 26.0 26.0(49 34 3v V-1 *Q 50 29.0 23.0
41 40 3v S-2 *A -200 22.0 30.0|12 18 3NN-1 46 -100 11.0 41.0|21 9 3¢ N-1 vK -50 18.0 34.0
43 38 3v N-2 49 -200 22.0 30.0 |13 17 44 S-1 a7 -100 11.0 41.0(23 7 3¢ N-1 aA -50 18.0 34.0
51 30 2v N-2 +5 -200 22.0 30.0|19 11 3NN-1 *4 -100 11.0 41.0|44 39 4¢ S-1 49 -50 18.0 34.0
52 29 3v N-2 v2 -200 22.0 30.0|20 10 3NN-1 a5 -100 11.0 41.0|19 11 2v V= *Q -110 12.0 40.0
127 3vS-3 *+K -300 7.0 45.0|27 3 44 S-1 a7 -100 11.0 41.0|36 47 24 O= &A -110 12.0 40.0
4 24 INN-3 +3 -300 7.0 45.0|32 51 3NS-1 oT -100 11.0 41.0|37 46 2y V= +Q -110 12.0 40.0
20 8 4v S-3 +8 -300 7.0 45.0|37 46 44 S-1 + K -100 11.0 41.0|20 10 3v V= *Q -140 5.0 47.0
31 50 3v N-3 49 -300 7.0 45.0|38 45 3NN-1 49 -100 11.0 41.0|27 3 2v O+l A -140 5.0 47.0
32 49 INN-3 +3 -300 7.0 45.0|40 43 3NN-1 + K -100 11.0 41.0|29 1 24 O+l &A -140 5.0 47.0
35 46 INN-3 2 -300 7.0 45.0|53 30 3NN-1 46 -100 11.0 41.0|40 43 34 O= *A -140 5.0 47.0
26 2 2NDN-4 3 -1100 0.0 52.0(48 35 3NS-2 + K -200 0.0 52.0|54 15 3v O +1 *A -170 0.0 52.0
31 495 32 « KD94 33 « D854
Syd v Kn7532 Vast vK9 Nord vED76
NS *7 ov + EK1086 Ingen *4
#EKn1072 D9 *Kn974
«DKn1042 & E86 «10  E853 & EKKN10762 &-
v D9864 vDKn763 vE82 v K10 v Kn9842
¢ Kn642 + EK5 4952 ¢+ Kn73 *7 + EK103
#53 #EKNG65  #832 £K85 #E632
« K73 & Kn762 293
vK v 1054 v 53
+ D10983 +D4 + DKn98652
D984 £K1074 D10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
329 44 V-3 *7 150 50.0 20|14 18 34 S+1 v3 170 50.0 20| 2 32 6NDO-1 9 100 48.0 4.0
27 5 44 V-3 *7 150 50.0 2.0(23 9 24 N+2 *2 170 50.0 20| 7 27 6a& V-2 *4 100 48.0 4.0
43 42 44 V-3 *7 150 50.0 2.0(38 47 34 N+1 46 170 50.0 2.0|31 3 54 V-2 *7 100 48.0 4.0
131 44 V-2 *7 100 35.0 17.0|39 46 1NN +2 a5 150 46.0 6.0(39 48 6y O-2 +Q 100 48.0 4.0
13 19 4e V-2 *7 100 35.0 17.0( 1 31 24 N+1 +3 140 37.0 150(54 17 3NDO-1 +Q 100 48.0 4.0
22 10 44 V-2 *7 100 35.0 17.0( 3 29 34 N= 2 140 37.0 150( 1 33 44 V-1 *4 50 32.0 20.0
23 9 44 V-2 *7 100 35.0 17.0|15 17 34 S= vQ 140 37.0 150| 4 30 44 V-1 *4 50 32.0 20.0
28 4 44 V-2 *7 100 35.0 17.0(22 10 24 N+1 *2 140 37.0 15.0(16 18 4e V-1 *4 50 32.0 20.0
30 2 44 V-2 *7 100 35.0 17.0(28 4 34 S= vJ] 140 37.0 15.0(21 13 44 V-1 *4 50 32.0 20.0
33 52 44 V-2 *7 100 35.0 17.0 |43 42 24 S+1 v3 140 37.0 15.0(23 11 44 V-1 7 50 32.0 20.0
34 51 44 V-2 *7 100 35.0 17.0 (53 32 34 S= vQ 140 37.0 15.0(24 10 6v O-1 L 3] 50 32.0 20.0
45 40 44 V-2 *7 100 35.0 17.0 (54 16 34 S= v3 140 37.0 150(29 5 44 V-1 *4 50 32.0 20.0
49 36 44 V-2 *7 100 35.0 17.0 (41 44 2NN = a5 120 28.0 24.0(34 53 44 V-1 *4 50 32.0 20.0
50 35 44 V-2 *7 100 35.0 17.0(50 35 24 S= vQ 110 26.0 26.0 |35 52 4a V-1 »7 50 32.0 20.0
54 16 44 V-2 *7 100 35.0 17.0( 6 26 44 S-1 vJ] -50 15.0 37.0 (38 49 4a4 V-1 *4 50 32.0 20.0
6 26 44 V-1 *7 50 15.0 37.0 (13 19 44 S-1 vQ -50 15.0 37.0 (50 37 44 V-1 *4 50 32.0 20.0
14 18 4e V-1 *7 50 150 37.0(24 8 44 N-1 vQ -50 15.0 37.0(46 41 3¢DS-2 vK -300 20.0 32.0
24 8 44 V-1 *7 50 150 37.0|25 7 44 S-1 v7 -50 15.0 37.0(14 20 3NO= +*J -400 16.0 36.0
37 48 44 V-1 *7 50 15.0 37.0(30 2 44 S-1 *2 -50 15.0 37.0(22 12 3NV = *4 -400 16.0 36.0
38 47 44 V-1 *7 50 15.0 37.0|33 52 44 S-1 vQ -50 15.0 37.0(42 45 3NO= +Q -400 16.0 36.0
39 46 44 V-1 *7 50 15.0 37.0|34 51 24 S-1 aT -50 15.0 37.0 (15 19 44 V= vA -420 9.0 43.0
41 44 44 V-1 v7 50 15.0 37.0 (37 48 3¢ N-1 *T -50 150 37.0(26 8 44 V= *4 -420 9.0 43.0
53 32 44 V-1 *7 50 15.0 37.0|45 40 44 S-1 vQ -50 15.0 37.0 (40 47 44 O= +8 -420 9.0 43.0
25 7 24 V+1 *7 -140 6.0 46.0|49 36 44 N-1 a5 -50 15.0 37.0 (51 36 44 V= *7 -420 9.0 43.0
15 17 34 V+1 .7 -170 4.0 48.0|20 12 44 S-2 vQ -100 2.0 50.0|125 9 3NO+1 +Q -430 4.0 48.0
20 12 54DN-1 #3 -200 2.0 50.0|21 11 44 N-2 v2 -100 2.0 50.0|28 6 44 V+1 *4 -450 1.0 51.0
21 11 44 V= *A -420 0.0 52.0|27 5 44 S-2 *6 -100 2.0 50.0 |44 43 44 V +1 vA -450 1.0 51.0
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34 « D97 35 «E10 36 #9876
Ost v 9852 Syd vD107 Vast v D862
NS + Kn106 ov + E10642 Alla +97
#1053 #954 &E54
4532 4 K10 « KDKn7 #8653 4 K542 & EKn10
vEKKn10 v643 v K98543 v EKnNn2 vEK3 vKnl10974
+ E875 + D9432 ¢+ K + Kn93 + EK86 ¢ D53
*ED *Kn72 #K8 #ED2 #DKn 432
« EKn864 4942 «D3
vD7 v6 v5
+ K + D875 ¢ Kn1042
£K9864 #Kn10763 #K109876
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
14 20 3NO-1 46 50 49.0 3.0(36 53 44 O-1 v5 100 52.0 0.0|25 11 3NV-2 46 200 51.0 1.0
28 6 3NO-1 a4 50 49.0 3.0(22 14 54DN-3 ¢9 -500 50.0 2.0|54 18 4v O-2 *4 200 51.0 1.0
42 45 3NO-1 a4 50 490 3.0 2 34 4e V= *A -620 450 7.0| 3 33 4v V-1 a7 100 40.0 12.0
54 17 3NO-1 Ly 50 49.0 30| 531 440= v6 -620 45.0 7.0|17 19 4v O-1 +*J 100 40.0 12.0
15 19 2NO= *4 -120 43.0 9.0|15 21 4v V= *A -620 450 7.0|23 13 3NV-1 49 100 40.0 12.0
22 12 2NO= a4 -120 43.0 9.0(16 20 4y V= aA -620 450 7.0|26 10 4v V-1 7 100 40.0 12.0
26 8 3¢ O+l v7 -130 40.0 12.0| 3 33 4v V+1 *4 -650 26.0 26.0|35 1 4v O-1 +3 100 40.0 12.0
4 30 3¢ O+2 vQ -150 33.0 19.0|23 13 4v V +1 *4 -650 26.0 26.0 |41 48 4v V-1 48 100 40.0 12.0
16 18 3¢ O +2 vQ -150 33.0 19.0|24 12 44 O +1 v6 -650 26.0 26.0 |45 44 4v V-1 +9 100 40.0 12.0
25 9 3¢ O+2 *4 -150 33.0 19.0|25 11 4v V+1 *4 -650 26.0 26.0|51 38 3NV-1 49 100 40.0 12.0
39 48 2N O +1 *4 -150 33.0 19.0|27 9 4v V+1 s A -650 26.0 26.0|52 37 4v O-1 +J 100 40.0 12.0
44 43 4¢ O +1 s A -150 33.0 19.0|129 7 4v V+1 LY -650 26.0 26.0|22 14 3&#DS-2 ¢K -500 30.0 22.0
51 36 2¢ O+3 »5 -150 33.0 19.0|32 4 5v V= *A -650 26.0 26.0| 2 34 4y V= a7 -620 18.0 34.0
40 47 2v O +2 46 -170 25.0 27.0|35 1 44 O+1 2 -650 26.0 26.0| 5 31 4v V= *A -620 18.0 34.0
46 41 3¢ O+3 a4 -170 25.0 27.0|39 50 4v V +1 &9 -650 26.0 26.0| 8 28 4y V= & A -620 18.0 34.0
21 13 2NO +2 »8 -180 21.0 31.0|41 48 44 O+1 v7 -650 26.0 26.0|16 20 4v V= +9 -620 18.0 34.0
29 5 INV+3 a7 -180 21.0 31.0|43 46 44 O+1 *] -650 26.0 26.0 |24 12 4y V= +9 -620 18.0 34.0
7 27 3NO= a4 -400 15.0 37.0|47 42 5v O= *2 -650 26.0 26.0|29 7 4y V= a7 -620 18.0 34.0
31 3 3NO= Ly -400 15.0 37.0|51 38 4v V +1 *4 -650 26.0 26.0|30 6 44 V= 2Q -620 18.0 34.0
35 52 3NO= a2 -400 15.0 37.0|52 37 4v V+1 *4 -650 26.0 26.0|36 53 4v V= LY -620 18.0 34.0
38 49 3NO= Ly -400 15.0 37.0|54 18 44 O +1 v6 -650 26.0 26.0|39 50 4v V= 49 -620 18.0 34.0
2 32 4v V= a7 -420 10.0 42.0| 8 28 44 O +2 v6 -680 9.0 43.0|40 49 4v V= 49 -620 18.0 34.0
23 11 3NO+1 *4 -430 5.0 47.0|30 6 44 O+2 *] -680 9.0 43.0|47 42 4v O = 49 -620 18.0 34.0
24 10 3NO +1 &4 -430 5.0 47.0|26 10 5¢DN-4 +9 -800 5.0 47.0|127 9 4v V+1 +9 -650 4.0 48.0
34 53 3NO+1 *6 -430 5.0 47.0|40 49 5¢DN-4 ©vA -800 5.0 47.0|32 4 4v V+1 49 -650 4.0 48.0
50 37 3NO+1 *4 -430 5.0 47.0|17 19 5¢DN-5 45 -1100 1.0 51.0 (43 46 4y O+1 &T -650 4.0 48.0
1 33 3NO+2 &4 -460 0.0 52.0|45 44 5¢DN-5 ¢3 -1100 1.0 51.0|15 21 3NV +2 49 -660 0.0 52.0
37 +E 38 « KDKn3 39 #9875
Nord vE43 Ost v D84 Syd v D54
NS ¢ 52 ov ¢ Kn87 Alla ¢ EKKn82
&#EKD9762 #EKn5 *E
4 D109543 4 K82 410852 44 aD aK4
v D75 v Kn8 vKKn10 vE75 v93 v EKKn1087
¢ 64 + EKD107 +D3 4109542 +D10643 ¢7
#Knl10 #543 &#KD92 #8743 #D7542 #KKn96
« Kn76 « E976 « EKn10632
v K10962 v 9632 v62
4 Kn983 + EK6 ¢ 95
&8 £106 #1083
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
42 49 3NDN+1 ¢A 950 520 00| 6 32 44 N+1 vA 450 520 00| 4 36 44DS= v9 790 520 0.0
9 29 3NN +2 vJ] 660 48.0 4.0(26 12 44 N= *T 420 50.0 2.0|25 15 44 S= v9 620 450 7.0
23 15 3N S+2 +6 660 480 40| 9 29 3NN= v3 400 46.0 6.0(26 14 44 S= v3 620 450 7.0
46 45 3NN +2 + K 660 48.0 4.0|23 15 3NS= *+Q 400 46.0 6.0|29 11 44 S= v9 620 450 7.0
17 21 3NN+1 *A 630 37.0 150(33 5 3NN= »7 400 46.0 6.0(34 6 44 S= v3 620 450 7.0
18 20 3N S +1 a2 630 37.0 15.0 (40 51 34 N+1 T 170 42.0 10.0(37 3 44 S= v9 620 450 7.0
25 13 3NN +1 +Q 630 37.0 150| 3 35 INS+2 a5 150 38.0 140(38 2 44 S= v9 620 450 7.0
28 10 3NS+1 6 630 37.0 150( 4 34 INN+2 +9 150 38.0 14.0(27 13 3NO-5 3 500 38.0 14.0
30 8 3NS+1 2 630 37.0 15.0(27 11 INN+2 +5 150 38.0 140( 5 35 5¢vDO-1 A 200 34.0 18.0
31 7 3NN+1 *A 630 37.0 15.0|25 13 34 N= *2 140 34.0 18.0(18 22 54D O -1 &A 200 34.0 18.0
37 1 3NN+1 + K 630 37.0 15.0(52 39 2N S= a5 120 32.0 20.0(19 21 54D O-1 &A 200 34.0 18.0
52 39 3NN+1 ¢ A 630 37.0 15.0(17 21 34 N-1 2 -50 23.0 29.0 ({17 23 34 N +1 vA 170 30.0 22.0
3 35 4v S= +6 620 20.0 32.0(28 10 44 S-1 *+Q -50 23.0 29.0(54 20 34 S= v9 140 28.0 24.0
4 34 4v S= *4 620 20.0 32.0(30 8 44 N-1 T -50 23.0 29.0(41 52 5v O-1 s A 100 26.0 26.0
6 32 4v S= +6 620 20.0 32.0(36 2 34 N-1 2 -50 23.0 29.0( 1 39 44 S-1 v9 -100 20.0 32.0
33 5 4v S= 7 620 20.0 32.0(37 1 44 N-1 &7 -50 23.0 29.0( 7 33 44 N-1 vA -100 20.0 32.0
36 2 4v S= 6 620 20.0 32.0|46 45 44 S-1 a2 -50 23.0 29.0 (10 30 44 N-1 vA -100 20.0 32.0
41 50 4v S= 6 620 20.0 32.0|48 43 3NN-1 +5 -50 23.0 29.0 (28 12 44 N-1 vA -100 20.0 32.0
48 43 4v N= *A 620 20.0 32.0(54 19 44 S-1 *+Q -50 23.0 29.0 (42 51 44 N-1 vA -100 20.0 32.0
53 38 4v S= *2 620 20.0 32.0(16 22 44 N-2 *2 -100 7.0 45.0|47 46 4 O = 2 -130 14.0 38.0
54 19 4v S= +6 620 20.0 32.0(18 20 44 N-2 2 -100 7.0 45.0|49 44 3v O= +9 -140 12.0 40.0
40 51 5# N= *+Q 600 10.0 42.0 (24 14 44 N-2 +9 -100 7.0 45.0|24 16 54DN-1 YA -200 10.0 42.0
16 22 5v S-1 +5 -100 4.0 48.0|31 7 44 S-2 &K -100 7.0 45.0|45 48 54DS-2 v9 -500 8.0 44.0
24 14 5v S-1 +3 -100 4.0 48.0|41 50 44 N-2 2 -100 7.0 45.0|31 9 4v O= s A -620 5.0 47.0
26 12 5v S-1 +8 -100 4.0 48.0|42 49 44 N-2 *2 -100 7.0 45.0|53 40 4v O= +9 -620 5.0 47.0
27 11 54 N-1 *A -100 4.0 48.0|44 47 3NN-2 +5 -100 7.0 45.0|32 8 4vDV= s A -790 1.0 51.0
44 47 5 N-1 *A -100 4.0 48.0|53 38 44 N-2 +5 -100 7.0 45.0|43 50 4vDO= +9 -790 1.0 51.0
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40 « DKn7 41 « E987 42 & K85
Vast v D92 Nord vE876 Ost v 10984
Ingen + EK104 ov ¢+ E1042 Alla + D5
#865 &K #KD62
& K865 « E32 a4 & K10532 4 E1074 & Kn32
vEK v 107643 vD9 vK3 vK v EKn753
+D9 + Kn53 +D9863 ¢7 ¢ 107 4643
#EKNn732 #K10 #EDKn42 #98765 #1098543 &E7
41094 « DKn6 « D96
v Kn85 vKn10542 v D62
+ 8762 ¢ KKn5 ¢ EKKn982
D94 #103 &Kn
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 33 3NO-1 +8 50 51.0 10(29 13 4¢vDS= a4 590 52.0 0.0|25 17 3NN +2 3 660 52.0 0.0
47 46 4v O-1 *4 50 51.0 10(27 15 54DV -2 YA 500 46.8 52| 2 40 3NN+1 43 630 48.0 4.0
53 40 1v V+2 +8 -140 48.0 4.0|32 10 54DV-2 YA 500 46.8 52| 6 36 3NN+1 a2 630 48.0 4.0
17 23 1INV +2 +K -150 46.0 6.0|42 53 5#4DV-2 ©vA 500 46.8 5.2(54 21 3NN+1 A 630 48.0 4.0
5 35 1a V+3 *A -170 40.0 12.0|48 47 54DV -2 ©vA 500 46.8 52(19 23 3NN= v3 600 39.0 13.0
18 22 24 V +2 ¢A -170 40.0 12.0| 6 36 4y N= *7 420 36.4 156|127 15 3NN= v3 600 39.0 13.0
24 16 2v V+2 *A -170 40.0 12.0|19 23 4y N= *7 420 36.4 15.6(30 12 3NN= 43 600 39.0 13.0
29 11 2v V+2 *A -170 40.0 12.0|25 17 4y N= *7 420 36.4 15.6 (42 53 3NS= »8 600 39.0 13.0
32 8 2v O+2 *A -170 40.0 12.0|28 14 4y N= .7 420 36.4 15.6 |48 47 3NN= a4 600 39.0 13.0
4 36 2N O +2 49 -180 34.0 18.0|39 3 4y N= .7 420 36.4 156 (50 45 3NN= +3 600 39.0 13.0
10 30 3NO= v8 -400 25.0 27.0|43 52 4v S= a4 420 36.4 156(18 24 2y N= a2 110 26.0 26.0
2515 3NO= T -400 25.0 27.0|54 21 34 O-3 vJ] 300 29.1 229|120 22 2+ S+1 vK 110 26.0 26.0
27 13 3NO= 2 -400 25.0 27.0|50 45 4# V-2 vA 200 27.0 25.0(26 16 2¢ S+1 &T 110 26.0 26.0
31 9 3NV= *A -400 25.0 27.0|11 31 3v N+1 a4 170 229 29.1|33 9 3¢ S= &T 110 26.0 26.0
37 3 3NV= *4 -400 25.0 27.0|30 12 2v S+2 a4 170 229 29.1(35 7 2¢ N+1 &T 110 26.0 26.0
41 52 3NO= Ly -400 25.0 27.0|35 7 3v N+1 .7 170 229 29.1|43 52 2¢ S+1 &T 110 26.0 26.0
43 50 3NO= 49 -400 25.0 27.0|38 4 2NS+1 *Q 150 18.7 33.3|44 51 2y N= *A 110 26.0 26.0
49 44 3NV = *A -400 25.0 27.0| 1 41 3v S= a4 140 115 405| 5 37 2¢ S= &T 90 17.0 35.0
139 3NV+1 +K -430 8.0 44.0| 5 37 2v S+l a4 140 11.5 405|39 3 24 S= vK 90 17.0 35.0
19 21 3NV +1 +4 -430 8.0 44.0| 8 34 3vy N= .7 140 115 405| 1 41 3NN-1 ] -100 9.0 43.0
26 14 3NV +1 *4 -430 8.0 44.0(|18 24 3y S= a4 140 115 40.5(11 31 3NN-1 &T -100 9.0 43.0
28 12 3NV +1 2Q -430 8.0 44.0|26 16 2v S+1 a4 140 11.5 40528 14 2y N-1 &A -100 9.0 43.0
34 6 3NO+1 *7 -430 8.0 44.0|46 49 3v S= a4 140 11.5 40.5|32 10 2vy N-1 a2 -100 9.0 43.0
38 2 3NV +1 *A -430 8.0 44.0|20 22 4v S-1 a4 -50 3.2 48.8(38 4 2y N-1 A -100 9.0 43.0
42 51 3NV +1 2Q -430 8.0 44.0|44 51 4v N-1 »5 -50 3.2 48.8(46 49 2y N-1 &A -100 9.0 43.0
45 48 3NV +1 *A -430 8.0 44.0| 2 40 3vyDS-1 42 -100 0.0 52.0| 8 34 3NN-2 43 -200 2.0 50.0
54 20 3NV +1 ¢A -430 8.0 440|133 9 A+/A+ 31.2 31.2|29 13 4vyDN-3 2 -800 0.0 52.0
8 34 Pen/Pen -52 0.0
43 4974 44 « DKNn983 45 4985
Syd v KKn9 Vast v E85 Nord v 64
Ingen ¢ Kn62 NS ¢ KKn Alla + K975
#10932 #EKD *E752
4103 » EK862 «E5 & K6 & Kn7 « D632
vED v 108763 v 962 v DKn743 v 1092 vED
¢ K1095 873 ¢ E1074 + D953 ¢ EKn10642 ¢ 83
&#D8754 &- #Kn1072 #96 D10 #K9864
« DKn5 410742 « EK104
v 542 v K10 v KKn8753
¢+ ED4 + 862 +D
#EKKN6 #8543 #Kn3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 38 34 O-2 &K 100 47.0 50|34 10 44aDN= vQ 790 520 0.0(34 12 34 0-3 +Q 300 51.0 1.0
7 37 3NV-2 Ly 100 47.0 50| 3 41 44 N= *6 620 43.0 9.0(46 53 3# O-3 +Q 300 51.0 1.0
19 25 3NV -2 2 100 47.0 5.0(12 32 44 N= +5 620 43.0 9.0(35 11 2¢DO-1 +Q 200 46.0 6.0
28 16 34 O-2 *A 100 47.0 50|20 24 44 S= v2 620 430 90(40 6 3#DO-1 &J 200 46.0 6.0
43 1 24DO-1 &A 100 47.0 5.0(26 18 44 S= v2 620 43.0 9.0(54 23 3¢ O-2 s A 200 46.0 6.0
54 22 3NV-2 2 100 47.0 5.0(27 17 44 N= vQ 620 43.0 9.0 4 42 2v S+2 v2 170 37.0 15.0
20 24 INS= aT 90 39.0 13.0(40 4 44 N= vJ] 620 43.0 9.0 8 38 2v S+2 ] 170 37.0 15.0
49 48 INS= *4 90 39.0 13.0 (45 52 44 S= v2 620 43.0 9.0|10 36 2v S+2 aJ 170 37.0 15.0
242 26 O-1 2 50 32.0 20.0 (49 48 44 N= vQ 620 43.0 9.0(28 18 2v S+2 aJ 170 37.0 15.0
9 35 34 0-1 v3 50 32.0 20.0|30 14 2NO-5 &Q 250 34.0 18.0(29 17 3v S+1 ] 170 37.0 15.0
12 32 34 O-1 *A 50 32.0 200 9 35 34 N+1 3 170 31.0 21.0(37 9 3v S+1 *Q 170 37.0 15.0
40 4 2v0O-1 &T 50 32.0 20.0 ({33 11 24 N+2 vQ 170 31.0 21.0(21 25 2v S= *Q 110 27.0 25.0
44 53 2v V-1 &T 50 32.0 20.0|31 13 INN+2 v3 150 23.0 29.0 (22 24 24 S= 2Q 110 27.0 25.0
21 23 2¢ O= *A 90 26.0 26.0(36 8 2NN +1 v4 150 23.0 29.0|30 16 2v S= *Q 110 27.0 25.0
30 14 INN-2 aT -100 24.0 28.0|43 1 INN+2 v3 150 23.0 29.0|50 49 2v S= *Q 110 27.0 25.0
26 18 24 O= &K -110 14.0 38.0 |44 53 2NN +1 vQ 150 23.0 29.0| 7 39 3¢ V-1 v6 100 22.0 30.0
27 17 24 V= 2 -110 14.0 38.0 |47 50 2NN +1 v3 150 23.0 29.0|27 19 1a S= *Q 80 20.0 32.0
29 15 24 O= *A -110 14.0 38.0|54 22 2NN +1 v3 150 23.0 29.0|31 15 2v S-1 ¢ A -100 16.0 36.0
31 13 24 O= *A -110 14.0 38.0| 7 37 2NN= v3 120 150 37.0|41 5 3v S-1 *Q -100 16.0 36.0
33 11 3¢ O= v2 -110 14.0 38.0|21 23 2NN = vQ 120 15.0 37.0|52 47 3v S-1 *Q -100 16.0 36.0
34 10 24 O= &K -110 14.0 38.0| 6 38 3vyDO-1 &7 100 12.0 40.0(44 2 2¢ O+1 +Q -110 12.0 40.0
45 52 2v O = &K -110 14.0 38.0| 2 42 44 N-1 v3 -100 5.0 47.0| 3 43 3vS-2 *Q -200 9.0 43.0
47 50 24 O= *A -110 14.0 38.0|19 25 44 N-1 *9 -100 5.0 47.0|45 1 3NN-2 +3 -200 9.0 43.0
51 46 24 O= *A -110 14.0 38.0|28 16 2NN -1 vQ -100 5.0 47.0|20 26 34 S-3 *Q -300 4.0 48.0
36 8 3vO= *A -140 4.0 48.0|29 15 2NN -1 v3 -100 5.0 47.0|32 14 3NN-3 +3 -300 4.0 48.0
39 5 2NV +1 49 -150 2.0 50.0|39 5 44 N-1 vQ -100 5.0 47.0|48 51 3NN-3 3 -300 4.0 48.0
3 41 2NDS-2 T -300 0.0 52.0|51 46 44 N-1 vQ -100 5.0 47.0|13 33 3¢DV= v6 -670 0.0 52.0
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46 «ED2 47 « K53 48 « ED98
Ost v Kn954 Syd vED7432 Vast v Kn7542
Ingen ¢+ K74 NS +5 ov +D5
#ED5 #Kn72 #65
4 K874 « 1065 «EKNn76 4D10942 4 Knl064 4K7532
vD v EK8763 v9865 vK vE108 vKD9
¢ Knl065 ¢ D932 ¢E874 ¢ KDG63 ¢ E109 ¢ K73
&#KN972  &- &E «D43 £972 *84
« Kn93 8 @-
v 102 vKnl0 v63
¢+ E8 ¢ Kn1092 ¢ Kn8642
#K108643 #K109865 #EKDKN103
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
52 47 44D S= vQ 510 520 0.0|41 7 44 O-2 vQ 100 52.0 0.0]21 27 54DO-4 #A 1100 52.0 0.0
3 43 3NN+2 a5 460 48.0 4.0|11 37 44 O-1 vJ 50 46.0 6.0|33 15 44D O -2 #A 500 50.0 2.0
27 19 3NN +2 vA 460 48.0 4.0(21 27 44 O-1 v] 50 46.0 6.0(23 25 34DO-1 A 200 450 7.0
29 17 3NN+2 vK 460 48.0 4.0|31 17 4+ V-1 +5 50 46.0 6.0|29 19 34D O-1 &A 200 45.0 7.0
13 33 3NN+1 v8 430 38.0 14.0|32 16 44 O-1 5 50 46.0 6.0|38 10 3¢DO-1 #A 200 450 7.0
21 25 3NN +1 v6 430 38.0 14.0 (33 15 44 O-1 *J 50 46.0 6.0(45 3 44 O-2 *A 200 45.0 7.0
30 16 3NN+1 v2 430 38.0 14.0|22 26 24 O+2 vJ -170 40.0 12.0|46 2 2v S+1 vA 140 40.0 12.0
40 6 3NN+1 vK 430 38.0 14.0|30 18 34 O+2 vJ -200 37.0 15.0| 9 39 3 N= v3 110 33.0 19.0
45 1 3NN+1 vK 430 38.0 14.0 |51 50 24 O +3 vJ] -200 37.0 15.0|22 26 3% S= oT 110 33.0 19.0
50 49 3NN +1 vA 430 38.0 14.0| 8 40 44 O= *J -420 24.0 28.0|42 6 2v N= *7 110 33.0 19.0
54 23 3NN +1 v8 430 38.0 140| 9 39 44 O= v3 -420 24.0 28.0|49 52 34 S= &2 110 33.0 19.0
48 51 3NN-= 3 400 30.0 22.0(14 34 44 V= 5 -420 24.0 28.0|53 48 34 S= *2 110 33.0 19.0
37 9 4¢DO-2 &4 300 28.0 24.0|28 20 44 O= vJ -420 24.0 28.0|54 24 34 S= LN 110 33.0 19.0
34 12 3NV-3 LY. 150 26.0 26.0(29 19 44 O= vJ -420 24.0 28.0|14 34 34 O-1 &K 100 25.0 27.0
46 53 3& N+1 vQ 130 24.0 28.0|35 13 44 O= v] -420 24.0 28.0|30 18 34 O-1 *A 100 25.0 27.0
8 38 3#S= vQ 110 20.0 32.0|46 2 44 O= vJ -420 24.0 28.0| 8 40 2v S-1 v8 -50 19.0 33.0
20 26 3#S= vQ 110 20.0 32.0|47 1 4e V= &2 -420 24.0 28.0|11 37 44 N-1 N -50 19.0 33.0
22 24 24 S= vQ 110 20.0 32.0|49 52 44 V= 5 -420 24.0 28.0|31 17 4#S-1 +] -50 19.0 33.0
739 3vy0-2 *A 100 16.0 36.0 |53 48 44 O= vJ -420 24.0 28.0|36 12 44 S-1 IN -50 19.0 33.0
4 42 3NN-1 v8 -50 7.0 45.0|54 24 44 O= +9 -420 24.0 28.0| 4 44 5¢ S-2 N -100 10.0 42.0
10 36 3NN-1 v5 50 7.0 45.0| 4 44 44 O+1 v] -450 7.0 45.0|28 20 54D S-1 4] -100 10.0 42.0
28 18 3NN-1 *3 50 7.0 45.0| 543 44 O+1 vJ -450 7.0 45.0|32 16 2v S-2 v8 -100 10.0 42.0
31 15 3NN-1 v8 -50 7.0 45.0(23 25 44 O+1 vJ -450 7.0 45.0|35 13 54DN-1 ] -100 10.0 42.0
32 14 34 S-1 *T -50 7.0 45.0(36 12 44 O+1 *J -450 7.0 45.0|47 1 44DN-1 &2 -100 10.0 42.0
35 11 3NN-1 v6 -50 7.0 45.0(38 10 44 O+1 vJ -450 7.0 45.0|41 7 3NS-3 IN -150 4.0 48.0
41 5 3NN-1 +5 50 7.0 450(42 6 44 O+1 ¢J -450 7.0 45.0| 5 43 54D S-2 4] -300 2.0 50.0
44 2 ANN-1 3 -50 7.0 450(45 3 3vyDN-2 +¢K -500 0.0 52.0|51 50 5#DS-3 YA -500 0.0 52.0
49 a7 50 3 51 « K109
Nord v KKn7542 Ost vE10543 Syd v EKKn9
Ingen ¢+ ED7 NS 4932 ov ¢ EK74
»1064 #ED107 #Kn5
« D962 «Kn8 «KD102 «E6 «EKn8 4 D6543
v 109 v D83 v K96 v DKn v10852 D3
¢ K8 ¢ 106542 ¢ K10 ¢ EKn8654 ¢D1096 +¢2
#KDKn85 #E32 K852 4943 «108 #EDA432
« EK10543 « Kn98754 472
vE6 v 872 v 764
+ Kn93 ¢+ D7 + Kn853
*97 #Kn6 #K976
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
43 7 4v N+1 *A 450 520 0.0 545 3NV-1 3 50 48.0 4.0(23 29 34DO-2 +¢5 500 51.0 1.0
10 40 4y N= LN 420 41.0 11.0|30 20 3NO-1 »7 50 48.0 4.0|35 17 34D0O-2 v4 500 51.0 1.0
12 38 4y N= *4 420 41.0 11.0|34 16 3NV-1 v4 50 48.0 4.0|30 22 24 V-2 vA 200 440 8.0
23 27 4v N= *A 420 410 11.0(42 8 3NV-1 v5 50 48.0 4.0(31 21 24 O-2 a7 200 440 8.0
29 21 4y N= *A 420 41.0 110|146 4 3NV-1 *A 50 48.0 4.0|32 20 24 V-2 vA 200 44.0 8.0
31 19 4v N= +3 420 41.0 11.0| 9 41 3NO= v3 -400 42.0 10.0|40 12 34DV-1 YA 200 440 8.0
33 17 4v N= N 420 41.0 11.0(10 40 3NV +1 v4 -430 32.0 20.0|54 26 34 O-2 &7 200 440 8.0
36 14 4y N= *4 420 41.0 11.0|15 35 3NV +1 *A -430 32.0 20.0 |11 41 INN+2 3 150 38.0 14.0
47 3 4vy N= &2 420 41.0 11.0|24 26 3NV +1 v3 -430 32.0 20.0|16 36 1lv N+2 *2 140 36.0 16.0
48 2 4v N= +5 420 41.0 11.0(29 21 3NV +1 v3 -430 32.0 20.0| 2 50 INN+1 *2 120 32.0 20.0
54 25 4v N= 2 420 41.0 11.0|31 19 3NV +1 v3 -430 32.0 20.0|34 18 INN+1 *2 120 32.0 20.0
34 16 3v N+3 s] 230 30.0 22.0|33 17 3NV +1 v3 -430 32.0 20.0|51 1 INN+1 *4 120 32.0 20.0
9 41 3y N+1 v3 170 23.0 29.0|36 14 3NV +1 v3 -430 32.0 20.0|44 8 24 O-1 &7 100 28.0 24.0
15 35 3v N+1 +] 170 23.0 29.0|37 13 3NO+1 45 -430 32.0 20.0|43 9 2¢ S= &T 90 26.0 26.0
24 26 3v N+1 +6 170 23.0 29.0|54 25 3NV +1 v3 -430 32.0 20.0| 7 45 3¢ N-1 a4 -50 18.0 34.0
30 20 3v S+1 *K 170 23.0 29.0| 1 49 3NV +2 v4 -460 14.0 38.0|13 39 3NN-1 a2 -50 18.0 34.0
32 18 3y N+1 +] 170 23.0 29.0|12 38 3NV +2 v4 -460 14.0 38.0|24 28 2NN-1 *2 -50 18.0 34.0
37 13 3v S+1 *K 170 23.0 29.0 |22 28 3NV +2 v3 -460 14.0 38.0|25 27 3NN-1 *2 -50 18.0 34.0
50 53 3¢ O-3 aA 150 16.0 36.0 |23 27 3NV +2 v3 -460 14.0 38.0|33 19 3NN-1 a4 -50 18.0 34.0
1 49 34 S= &K 140 13.0 39.0|32 18 3NV +2 v4 -460 14.0 38.0|38 14 3¢ N-1 46 -50 18.0 34.0
46 4 34 S= *Q 140 13.0 39.0|39 11 3NV +2 v4 -460 14.0 38.0|48 4 3¢ N-1 a4 -50 18.0 34.0
6 44 44 S-1 *K -50 6.0 46.0(43 7 3NV+2 v2 -460 14.0 38.0|47 5 3NN- 3 -100 10.0 42.0
22 28 3NS-1 &K -50 6.0 46.0(48 2 3NO+2 v2 -460 14.0 38.0|10 42 24 O= »7 -110 8.0 44.0
39 11 34 N-1 &K -50 6.0 46.0|52 51 3NV +2 v2 -460 14.0 38.0|49 3 3#N-3 43 -150 5.0 47.0
42 8 3NN-1 [N -50 6.0 46.0(47 3 2vyDN-2 &K -500 3.0 49.0|53 52 3#S-3 &T -150 5.0 47.0
52 51 34 S-1 &K -50 6.0 46.0(50 53 2vyDN-2 4A -500 3.0 49.0|37 15 3NN-4 a2 -200 2.0 50.0
545 3NS-5 &K -250 0.0 52.0| 6 44 1aRDV+1 YA -720 0.0 52.0| 6 46 24DO= %4 -670 0.0 52.0
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52 # 982 53 « 10974 54 aE2
Vast v EKn Nord v 1094 Ost v KDKn2
Alla 4108643 NS ¢ DKn852 ov ¢ K752
#642 &7 #KD5
4D 4 Kn10643 « EK3 4 Kn82 4 KKn103 D984
v 108 v K7 vD2 vE76 v10543 v 987
¢ EKD9752 ¢ Kn + K6 +10943 ¢ ED4 ¢ Kn986
#Kn93 #KD875 #EKD843 #Knl05 #108 *92
# EK75 D65 765
v D965432 v KKn853 vE6
¢- ¢ E7 ¢ 103
#E10 #962 #EKN7643
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
48 4 3NDO-5 v4 1400 52.0 0.0|54 27 3¢ O-2 &2 100 520 0.0|38 16 3NN +4 48 520 52.0 0.0
23 29 4v S= *A 620 49.0 3.0| 7 47 3NV +1 2 -430 45.0 7.0|11 43 3NN+3 v7 490 440 8.0
38 14 4v S= *K 620 49.0 3.0(24 30 3NO +1 v3 -430 45.0 7.0|12 42 3NN +3 v5 490 440 8.0
24 28 3NO-5 4 A 500 440 8.0|25 29 3NV +1 *2 -430 45.0 7.0|31 23 3NN+3 v9 490 44.0 8.0
25 27 5¢DV-2 vA 500 440 8.0|39 15 3NO+1 *9 -430 45.0 7.0|35 19 3NN+3 v9 490 440 8.0
53 52 5¢DV-2 YA 500 440 8.0(41 13 3NV +1 49 -430 45.0 7.0|45 9 3NN+3 v2 490 440 8.0
7 45 5¢ V-2 vJ 200 37.0 150|148 6 3NO+1 v3 -430 45.0 7.0|49 5 3NN+3 +8 490 44.0 8.0
30 22 5¢ O-2 vA 200 37.0 150| 1 53 3NO+2 *4 -460 22.0 30.0|50 4 3NN+3 +9 490 440 8.0
32 20 4¢ V-2 vA 200 37.0 150 3 51 3NO+2 v3 -460 22.0 30.0| 1 53 3NN +2 48 460 21.0 31.0
43 9 4¢DV-1 VA 200 37.0 15.0| 8 46 3NV +2 +Q -460 22.0 30.0| 3 51 3NS+2 v4 460 21.0 31.0
11 41 3y N+1 +Q 170 30.0 22.0 (11 43 3NO+2 a4 -460 22.0 30.0| 7 47 3NS+2 v4 460 21.0 31.0
37 15 3v S+1 *A 170 30.0 22.0 (14 40 3NV +2 *J -460 22.0 30.0| 8 46 3NS+2 48 460 21.0 31.0
51 1 3vS+1 ¢+ K 170 30.0 22.0|17 37 3NO+2 v8 -460 22.0 30.0|14 40 3NS+2 v4 460 21.0 31.0
31 21 3vS= *A 140 25.0 27.0(31 23 3NO+2 v3 -460 22.0 30.0|24 30 3NN+2 a7 460 21.0 31.0
34 18 3v S= +Q 140 25.0 27.0|32 22 3NV +2 aT -460 22.0 30.0|25 29 3NN +2 48 460 21.0 31.0
2 50 5#0-1 v6 100 20.0 32.0|33 21 3NO+2 45 -460 22.0 30.0|32 22 3NN +2 48 460 21.0 31.0
6 46 3NO-1 4K 100 20.0 32.0(34 20 3N O +2 v5 -460 22.0 30.0|33 21 3NN+2 a5 460 21.0 31.0
35 17 4¢ O-1 vA 100 20.0 32.0|36 18 3NV +2 +Q -460 22.0 30.0|34 20 3NN +2 a4 460 21.0 31.0
40 12 4v S-1 ¢A -100 13.0 39.0|38 16 3NV +2 +Q -460 22.0 30.0|39 15 3NN +2 28 460 21.0 31.0
47 5 4v S-1 ¢A -100 13.0 39.0|44 10 3NV +2 +Q -460 22.0 30.0|41 13 3NN +2 46 460 21.0 31.0
49 3 4v S-1 *A -100 13.0 39.0|45 9 3NO+2 v5 -460 22.0 30.0|44 10 3NN +2 a4 460 21.0 31.0
54 26 4v S-1 ¢+ K -100 13.0 39.0|49 5 3NV +2 *2 -460 22.0 30.0|48 6 3NS+2 3 460 21.0 31.0
13 39 4vDS-1 +A -200 8.0 44.0|50 4 3NO+2 v3 -460 22.0 30.0|52 2 3NS+2 v4 460 21.0 31.0
10 42 3¢DV= *2 -670 4.0 48.0|52 2 3NV +2 vT -460 22.0 30.0|54 27 3NN +2 48 460 21.0 31.0
16 36 3¢DV= vA -670 4.0 48.0|12 42 3NO+3 a4 -490 4.0 48.0|36 18 5# S+1 oT 420 4.0 48.0
44 8 3¢DV= a2 -670 4.0 48.0|35 19 3vDN-2 #A -500 2.0 50.0|26 28 3# S+3 &T 170 2.0 50.0
33 19 44DN-3 ¢ -800 0.0 52.0|26 28 3NO +4 v5 -520 0.0 52.0|17 37 6% N-1 v9 -50 0.0 52.0
55 4 K62 56 « 105 57 « K1085
Syd vD1062 Vast v EKn102 Nord v D63
Alla ¢ DKn10 Ingen + D10 ov ¢ Kn6
#KKn6 #EK654 #D972
«Kn5 «E84 984 « EDKn a7 4 EKn32
vEK98 v43 v 843 v95 v Kn4 v E10972
¢ 9854 ¢ EK763 ¢ EK932 + Kn75 ¢ KD753 ¢ 109
#975  #ED3 &73 #Kn10982 #108653 #Kn4
«D10973 & K7632 D964
vKn75 vKD76 v K85
*2 + 864 + E842
#10842 «D #EK
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 43 5¢DO-1 49 200 520 00| 452 4v N= +6 420 46.0 6.0(28 30 2vDO-2 &K 500 49.0 3.0
2 1 INO+1 49 -120 49.0 3.0|15 41 4v N= +5 420 46.0 6.0|35 23 2¢vDO-2 v2 500 49.0 3.0
51 5 INO+1 43 -120 49.0 3.0|26 30 4v N= +5 420 46.0 6.0|36 22 2¢DO-2 «K 500 49.0 3.0
8 48 3¢ O+1 v5 -130 43.0 9.0|33 23 4v N= 3 420 46.0 6.0(38 20 2¢vDO-2 A 500 49.0 3.0
33 23 3¢ O+1 *4 -130 43.0 9.0|35 21 4v N= ¢A 420 46.0 6.0|47 11 3NS+1 *3 430 440 8.0
37 19 3¢ O+1 49 -130 43.0 9.0|42 14 4v N= &T 420 46.0 6.0|10 48 3NS= +3 400 42.0 10.0
42 14 2¢ O+2 3 -130 43.0 9.0|54 28 4v N= +5 420 46.0 6.0(43 15 2¢DV-1 ¢J 200 40.0 12.0
39 17 INO+2 43 -150 37.0 15.0|40 16 3v S+1 ¢ A 170 38.0 140| 1 4 34 S= +Q 140 37.0 15.0
50 6 INO+2 43 -150 37.0 15.0|25 31 3v N= *3 140 340 18.0|52 6 24 N+1 ) 140 37.0 15.0
26 30 24 S-2 vA -200 33.0 19.0|32 24 3v S= *A 140 340 180| 3 2 2NS= *6 120 34.0 18.0
46 10 24 N-2 ¢A -200 33.0 19.0|51 5 3v N= 5 140 34.0 18.0|54 29 24 S= ¢+ K 110 32.0 20.0
34 22 24DS-2 9 -500 30.0 220| 2 1 3¢DV-1 &A 100 30.0 22.0|46 12 2¢ O-1 2 100 30.0 22.0
4 52 3NO = aT -600 17.0 35.0| 8 48 INN= *J 90 28.0 24.0| 9 49 INN= v3 90 28.0 24.0
9 47 3NO= vJ -600 17.0 35.0|13 43 3¢ V-1 *A 50 26.0 26.0 |13 45 44 N-1 vA -50 22.0 30.0
15 41 3NO= 43 -600 17.0 35.0| 9 47 4v N-1 43 -50 12.0 40.0|14 44 44 S-1 ¢+ K -50 22.0 30.0
18 38 3NO = 43 -600 17.0 35.0|12 44 4v S-1 *A -50 12.0 40.0(26 32 34 N-1 *T -50 22.0 30.0
27 29 3NO= 43 -600 17.0 35.0|18 38 4v N-1 *3 -50 12.0 40.0 |34 24 44 N-1 *T -50 22.0 30.0
32 24 3NV = +Q -600 17.0 35.0|27 29 4v N-1 +5 -50 12.0 40.0|37 21 34 S-1 ¢+ K -50 22.0 30.0
35 21 3NO= +Q -600 17.0 35.0|34 22 4v N-1 v5 -50 12.0 40.0(16 42 INS-2 vJ -100 12.0 40.0
36 20 3NV = v6 -600 17.0 35.0|36 20 4v S-1 ¢+ K -50 12.0 40.0(19 39 3NS-2 vJ -100 12.0 40.0
40 16 3NV = +Q -600 17.0 35.0|37 19 4v S-1 ¢A -50 12.0 40.0|33 25 44 S-2 *2 -100 12.0 40.0
49 7 3NV= a2 -600 17.0 35.0|39 17 4v S-1 ¢+ K -50 12.0 40.0 (40 18 44 N-2 *T -100 12.0 40.0
53 3 3NV= 43 -600 17.0 35.0|45 11 4v S-1 ¢A -50 12.0 40.0{41 17 2NS-2 vJ -100 12.0 40.0
54 28 3NO= 49 -600 17.0 35.0|46 10 44 N-1 *J -50 120 40.0| 553 2v V= ¢J -110 6.0 46.0
12 44 3NV +1 ¢J -630 2.0 50.0|49 7 4v N-1 +5 -50 12.0 40.0(50 8 3NS-3 vJ -150 4.0 48.0
25 31 3NV +1 v6 -630 2.0 50.0|50 6 4v N-1 *J -50 12.0 40.0(27 31 3NS-4 vJ -200 2.0 50.0
45 11 3NO+1 a7 -630 2.0 50.0|53 3 4vS-1 ¢A -50 120 40.0|51 7 2vDV= *7 -670 0.0 52.0
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58 « Kn7542 59 « D107654 60 « D875
Ost vE1086 Syd vKn Vast vK73
Alla ¢2 Ingen +95 NS ¢+ Kn7
#1085 #Kn432 #D863
463 4 E8 K8 s E & Kn6 & EK9432
v9 v KKn753 v E42 v 109765 vE9862 vD4
+ K876 + DKn10 ¢ EKn8 41076432 + E86 + K92
#KKn9764 #E32 #K10975 &E #1097 #K4
« KD109 & Kn932 410
v D42 vKD83 vKn105
¢ E9543 ¢+ KD ¢+ D10543
D £D86 &EKN52
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
52 6 44 N+1 *J 650 52.0 0.0(11 49 5¢vDO-2 43 300 52.0 0.0(47 13 3NO-4 +5 200 51.0 1.0
14 44 54DV-1 2 200 46.0 6.0(10 50 5v O-2 43 100 470 50(51 9 3NO-4 +5 200 51.0 1.0
26 32 3NO-2 4Q 200 46.0 6.0(20 40 4¢vDV-1 &5 100 470 5.0(29 31 4v V-3 *J 150 48.0 4.0
34 24 34 0-2 2Q 200 46.0 6.0(36 24 5¢DO-1 +K 100 47.0 5.0(10 50 44 O-2 vJ] 100 39.0 13.0
47 11 3NO-2 s K 200 46.0 6.0(48 12 4vDO-1 +¢K 100 47.0 5011 49 4y O-2 ) 100 39.0 13.0
51 7 3NO-2 &K 200 460 60| 6 1 4v0-1 49 50 36.0 16.0 (14 46 44 O-2 vT 100 39.0 13.0
9 49 34 N= 3 140 38.0 14.0(27 33 4v V-1 +9 50 36.0 16.0 (17 43 3N O -2 +*J 100 39.0 13.0
27 31 34 N= +Q 140 38.0 14.0(29 31 4v O-1 + K 50 36.0 16.0 (38 22 44 O -2 +5 100 39.0 13.0
54 29 34 S= v9 140 38.0 14.0|34 26 4v O-1 +K 50 36.0 16.0 (39 21 44 O-2 +3 100 39.0 13.0
16 42 3NO-1 a2 100 31.0 21.0(38 22 4v V-1 +9 50 36.0 16.0 (44 16 44 O-2 vJ] 100 39.0 13.0
28 30 4+ V-1 2 100 31.0 21.0(52 8 4v O-1 &K 50 36.0 16.0(53 7 44 O-2 vJ] 100 39.0 13.0
36 22 3NO-1 &K 100 31.0 21.0|54 30 4v O-1 *+K 50 36.0 160 4 3 3NV-1 *J 50 22.0 30.0
38 20 44 V-1 2 100 31.0 21.0(28 32 44 S-1 *A -50 28.0 24.0(15 45 44 O-1 vJ] 50 22.0 30.0
1 4 34N-1 +J -100 23.0 29.0|41 19 4¢ O= + K -130 26.0 26.0|27 33 24 O-1 +3 50 22.0 30.0
41 17 34 S-1 v9 -100 23.0 29.0| 4 3 3vO= *+K -140 23.0 29.0|35 25 44 O-1 vJ 50 22.0 30.0
46 12 34 S-1 v9 -100 23.0 29.0|15 45 3v O= + K -140 23.0 29.0|36 24 44 O-1 +6 50 22.0 30.0
50 8 34S-1 v9 -100 23.0 29.0|35 25 4¢ O+1 43 -150 19.0 33.0|41 19 3NO-1 *4 50 22.0 30.0
19 39 340 +1 4Q -130 17.0 35.0|47 13 3¢ O+2 43 -150 19.0 33.0|42 18 44 O-1 +3 50 22.0 30.0
40 18 3# V+1 +6 -130 17.0 35.0|17 43 44DS-2 &5 -300 16.0 36.0|48 12 44 O-1 vT 50 22.0 30.0
3 2 3aV+2 2 -150 13.0 39.0|44 16 4v O= 43 -420 14.0 38.0|54 30 24 O-1 +3 50 22.0 30.0
43 15 44V +1 2 -150 13.0 39.0|37 23 3NV +1 a5 -430 11.0 41.0|34 26 24 O= *4 -110 11.0 41.0
10 48 1IN O +3 *4 -180 10.0 42.0|51 9 3NV +1 a5 -430 11.0 41.0|52 8 24 O= +Q -110 11.0 41.0
5 53 44DS-1 v9 -200 6.0 46.0|14 46 3NV +2 46 -460 8.0 440| 2 5 INV+1 »6 -120 8.0 44.0
13 45 34DS-1 v9 -200 6.0 46.0|53 7 3NV +3 a5 490 6.0 46.0| 6 1 24 O+1 vT -140 5.0 47.0
37 21 44DN-1 ¢Q -200 6.0 46.0|42 18 44DN-3 #A -500 4.0 48.0|28 32 24 O+1 vJ] -140 5.0 47.0
35 23 44DN-2 v9 -500 2.0 50.0|39 21 5¢DO= 49 -550 2.0 50.0 |20 40 24 O +2 vJ -170 1.0 51.0
33 25 3NO+2 +3 -660 0.0 52.0| 2 5 3NDV+1 44 -650 0.0 52.0|37 23 24 O +2 vJ -170 1.0 51.0
61 « Kn8 62 « DKNn943 63 « KKn4
Nord v EDKn975 Ost v EDKn6 Syd vKD73
Alla +97 Ingen + 84 NS 2
&E73 K10 #DKn753
4 E9752 4D10643 4K52 410876 483 4 E76
v 862 v K10 vK84  v109 v 10864 vE
¢ E + D103 ¢ EKD3 ¢ 9752 ¢+ EK10764 ¢ D953
&#KD96 #542 #3863 #952 &8 #E10962
&K +E « D10952
v43 v 7532 v Kn952
+ KKn86542 + Kn106 + Kn8
#Kn108 #EDKn74 K4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 51 3v N= 43 140 520 0.0|16 46 14D O-4 A 800 520 0.0|50 14 44DO-5 ¥5 1100 520 0.0
48 14 3¢ S= *Q 110 50.0 2.0(49 13 4vDS= *A 590 50.0 2.0|12 52 4¢ V+1 *2 -150 48.0 4.0
7 2 29y N-1 43 -100 44.0 8.0|36 26 INDV-3 43 500 46.0 6.0|37 27 4¢ V+1 &K -150 48.0 4.0
18 44 3¢ S-1 &K -100 44.0 8.0|38 24 24DO-3 #A 500 46.0 6.0(38 26 3¢ V+2 2 -150 48.0 4.0
29 33 3¢ S-1 *A -100 440 8.0|43 19 2¢DV-3 K 500 46.0 60| 4 7 4e V+2 vQ -170 40.0 12.0
35 27 4v N-1 a2 -100 440 8.0| 1 8 4v S+l +K 450 31.0 21.0 (16 48 3¢ V+3 *Q -170 40.0 12.0
38 24 4v N-1 43 -100 440 80| 3 6 4v S+l + K 450 31.0 21.0(19 45 3¢ V+3 vK -170 40.0 12.0
30 32 34 V= vA -140 38.0 14.0|11 51 4y N+1 *A 450 31.0 21.0 (44 20 3¢ V+3 vK -170 40.0 12.0
5 4 34 O+1 +9 -170 33.0 19.0|15 47 4v S+1 A 450 31.0 21.0 (46 18 3¢ O+3 49 -170 40.0 12.0
16 46 34 V +1 +9 -170 33.0 19.0|28 34 4v N +1 *5 450 310 21.0f 2 9 3NO= 49 -400 27.0 25.0
40 22 34 V+1 +9 -170 33.0 19.0|30 32 4v S+1 *A 450 310 210 6 5 3NO= a5 -400 27.0 25.0
43 19 34 V+1 ] -170 33.0 19.0|37 25 4y N+1 +5 450 31.0 21.0(22 42 3NO= a2 -400 27.0 25.0
21 41 34 V+2 +9 -200 25.0 27.0|39 23 4v N+1 +5 450 31.0 21.0(30 34 3NO= aT -400 27.0 25.0
42 20 34 V+2 +9 -200 25.0 27.0|42 20 44 N+1 vT 450 31.0 21.0(31 33 3NO= a2 -400 27.0 25.0
49 13 34 V+2 +9 -200 25.0 27.0|45 17 4v S+1 + K 450 31.0 21.0(49 15 3NO= 43 -400 27.0 25.0
52 10 34 V+2 +9 -200 25.0 27.0|48 14 4v S+1 +K 450 31.0 21.0(53 11 3NO= *J -400 27.0 25.0
45 17 4v N-3 *K -300 20.0 32.0|52 10 4v S+1 *A 450 31.0 21.0(54 32 3NO = a2 -400 27.0 25.0
12 50 4e V= +9 -620 13.0 39.0|54 31 3NN +1 vT 430 18.0 34.0| 1 10 5¢ O+1 &K -420 14.0 38.0
36 26 44 O = v4 -620 13.0 39.0|18 44 4v S= *A 420 140 380| 8 3 5¢ V+1 a4 -420 14.0 38.0
37 25 44 O= +9 -620 13.0 39.0|35 27 4y N= *A 420 14.0 38.0 (13 51 5¢ V+1 &2 -420 14.0 38.0
39 23 44 V= +9 -620 13.0 39.0 |40 22 4v S= *A 420 14.0 38.0 (36 28 5¢ V+1 a4 -420 14.0 38.0
53 9 44 O= +9 -620 13.0 39.0|12 50 3NS= *A 400 8.0 44.0(39 25 5¢ V+1 2Q -420 14.0 38.0
54 31 44 V= vA -620 13.0 39.0|21 41 3NS= *A 400 8.0 44.0|29 35 3NO+1 &K -430 8.0 44.0
3 6 4a V+l +9 -650 6.0 46.0|29 33 5# S= *A 400 8.0 440|140 24 5¢DO+1 &K -650 5.0 47.0
15 47 44DV +1 48 990 3.0 490| 5 4 3vy N+1 v6 170 2.0 50.0|41 23 5¢DV+1l ¥vQ -650 5.0 47.0
28 34 44DV +1 ©vA 990 3.0 490| 7 2 3y N+1 +5 170 2.0 50.0|17 47 3NDO+2 &K -750 2.0 50.0
1 8 34DV+2 7 -1130 0.0 52.0 (53 9 24 N+2 vT 170 2.0 50.0(43 21 6¢ V= vK -920 0.0 52.0
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64 463 65 +E 66 + EK105
Vast v KDKn8 Nord v KKn1064 Ost v 1095
ov ¢ Kn8753 Ingen + D83 NS ¢+ Kn
#Kn8 #DKn32 #E10872
4 Knl05 #4972 aK87 463 «DKn42 4876
v 953 vE1064 vD872 953 v 743 v EKDKn6
41062 ¢ EK ¢+ K64 ¢ Knl0972 ¢ KD932 ¢ 1087
#EK42 #9753 2974  »K86 *6 D4
« EKD84 « DKn109542 93
v72 vE v 82
+ D94 ¢ E5 ¢ E654
D106 #E105 #KKn953
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
39 25 2vDO-3 &A 800 520 00| 5 8 64 S= *4 980 51.0 1.0(42 24 3#DN+2 vQ 1070 52.0 0.0
2 9 3#DO-2 &K 500 500 20| 9 4 64 N= v3 980 51.0 10|31 35 54DN= vA 750 50.0 2.0
8 3 2v0-4 43 400 48.0 40| 3 10 44 S+2 LY 480 34.0 18.0 (39 27 5& N= vA 600 48.0 4.0
31 33 2v O-3 LY 300 46.0 60| 7 6 44 S+2 v8 480 34.0 18.0(38 28 4¢vDO-3 49 500 450 7.0
22 42 2NN +1 v6 150 440 8.0(13 53 44 S+2 *4 480 34.0 18.0 (45 21 4vyDO-3 49 500 450 7.0
13 51 INN+1 &5 120 38.0 14.0|14 52 44 S+2 a7 480 34.0 18.0|47 19 3vDO-2 49 300 42.0 10.0
30 34 INN+1 *A 120 38.0 14.0 (18 48 44 S+2 a7 480 340 180( 7 6 44 V-5 &A 250 40.0 12.0
37 27 INN+1 v6 120 38.0 14.0 (20 46 44 S +2 *4 480 340 180 1 12 24 V-4 +J 200 37.0 15.0
44 20 INN +1 v2 120 38.0 14.0 |23 43 44 S+2 *4 480 34.0 18.0|13 53 3v O -4 &2 200 37.0 15.0
50 14 INN+1 v4 120 38.0 14.0 (30 36 44 S+2 *4 480 340 180 9 4 44 N+1 v3 150 28.0 24.0
110 24 S= *A 110 27.0 25.0|31 35 44 S+2 *4 480 34.0 18.0 (20 46 44 N +1 vA 150 28.0 24.0
16 48 14 S+1 A 110 27.0 25.0 (37 29 44 S+2 *4 480 34.0 18.0 (30 36 4# N+1 vA 150 28.0 24.0
19 45 14 S+1 *K 110 27.0 25.0 |40 26 44 S+2 6 480 34.0 18.0 (40 26 4& S +1 v4 150 28.0 24.0
40 24 24 S= *A 110 27.0 25.0|41 25 44 S+2 *4 480 34.0 18.0 (41 25 44 S +1 vJ] 150 28.0 24.0
46 18 14 N +1 v3 110 27.0 25.0 (45 21 44 S+2 LY 480 34.0 18.0 (44 22 44 N +1 v3 150 28.0 24.0
53 11 14 S+1 *A 110 27.0 25.0|50 16 44 S+2 *5 480 34.0 18.0(50 16 3v O-3 *3 150 28.0 24.0
4 7 INN= v5 90 12.0 40.0 |54 33 44 S+2 *4 480 34.0 18.0 (54 33 24 N+1 vA 140 20.0 32.0
6 5 INN= &5 90 12.0 40.0 |42 24 3NN +2 *J 460 18.0 34.0(37 29 3v O-2 49 100 18.0 34.0
12 52 INN= »5 90 12.0 40.0| 1 12 44 S+1 *4 450 13.0 39.0| 2 11 2¢vO-1 49 50 14.0 38.0
17 47 INN= ¢ A 90 12.0 40.0| 2 11 44 S+1 *4 450 13.0 39.0| 5 8 2v0O-1 49 50 14.0 38.0
36 28 INN= &5 90 12.0 40.0 (32 34 44 S+1 &7 450 13.0 39.0(18 48 3v O-1 49 50 14.0 38.0
38 26 INN= v6 90 12.0 40.0 |44 22 44 S+1 *4 450 13.0 39.0| 3 10 24 N-1 vA -100 10.0 42.0
43 21 INN= *4 90 12.0 40.0 |17 49 3NN +1 +J 430 8.0 44.0|14 52 2v O +1 43 -140 6.0 46.0
49 15 INN= v6 90 12.0 40.0 (51 15 24 S+4 &T 230 6.0 46.017 49 2v O+1 ¢A -140 6.0 46.0
54 32 INN= v4 90 12.0 40.0 |47 19 34 S+3 *4 170 4.0 48.0|32 34 2y O+1 49 -140 6.0 46.0
29 35 24 S-1 v3 -50 2.0 50.0 (38 28 64 S-1 *4 -50 2.0 50.0(23 43 2y O +2 v2 -170 1.0 51.0
41 23 INO= +Q -90 0.0 52.0(39 27 5& N -2 *J -100 0.0 52.0|51 15 2v O +2 v8 -170 1.0 51.0
67 « D653 68 « D10985 69 462
Syd v7 Vast v Kn984 Nord v 62
oV ¢ K93 Alla +8 NS ¢ ED105432
#D10854 D86 *54
4 K10742 #Kn8 aE762 443 & E7 & KKn103
v ED98 v Kn1065 v75 v K62 v D974 v KKn103
+5 + Kn8642 ¢ DKn10 ¢ E96532 + K6 .7
762 #EK #EKN32 #95 #DKn1073 #9862
«E9 # KKn « D9854
v K432 vED103 v E85
+ ED107 +* K74 + Kn98
#Kn93 £K1074 &EK
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
41 27 3vDO-3 48 800 520 0.0(39 29 4v N+1 v2 650 520 0.0|25 45 3NS+3 *Q 690 520 0.0
31 37 4v V-3 +3 300 50.0 2.0(40 28 4y N= *9 620 49.0 3.0 3 14 3NS+2 LN 660 49.0 3.0
10 5 3v 0O-2 *3 200 47.0 5.0(48 20 4y S= +5 620 49.0 3.0(46 24 3NS+2 *Q 660 49.0 3.0
32 36 2¢DO-1 &J 200 470 50| 2 13 INV-3 49 300 46.0 6.0| 5 12 3NS+1 LN 630 36.0 16.0
43 25 INS+1 *2 120 430 90(14 1 3¢ 0-2 & K 200 42.0 10.0 {20 50 3N S +1 LY 630 36.0 16.0
52 16 INS+1 vK 120 43.0 9.0(15 53 2v N +3 a4 200 42.0 10.0 ({33 37 3NS+1 2Q 630 36.0 16.0
18 50 3 N = A 110 39.0 13.0|42 26 INDV-1 9 200 42.0 10.0|38 32 3NS+1 *Q 630 36.0 16.0
51 17 3« N= s 110 39.0 13.0( 6 9 34 N+1 *A 170 35.0 17.0 {40 30 3NS+1 LN 630 36.0 16.0
4 11 4v0O-1 LY 100 35.0 17.0 (19 49 2v N +2 a4 170 35.0 17.0 {43 27 3NS+1 2Q 630 36.0 16.0
19 49 3v V-1 +3 100 35.0 17.043 25 2v N+2 a2 170 35.0 17.0|44 26 3NS+1 2 630 36.0 16.0
3 12 INS= *6 90 31.0 21.0 (51 17 24 S+2 a2 170 35.0 17.0 (47 23 3NN +1 *Q 630 36.0 16.0
15 53 2¢ S= +5 90 31.0 21.0({10 5 2v S+1 +Q 140 26.0 26.0 (49 21 3NS+1 *6 630 36.0 16.0
8 7 3a&N-1 ] -50 24.0 28.0(31 37 3y S= +Q 140 26.0 26.0 (53 17 3NS+1 *Q 630 36.0 16.0
14 1 INN-1 s -50 24.0 28.0|33 35 3y N= a4 140 26.0 26.0 (54 35 3NS+1 *Q 630 36.0 16.0
38 30 INN-1 Ly -50 24.0 28.0 (46 22 24 N +1 *9 140 26.0 26.0| 9 8 1a N+2 v3 140 24.0 28.0
42 26 INS-1 a4 -50 24.0 28.0(54 34 24 N+1 *5 140 26.0 26.0( 4 13 3¢ N+1 vT 130 19.0 33.0
46 22 INS-1 a2 -50 24.0 28.0(41 27 2v S= +Q 110 20.0 32.0( 7 10 3¢ N+1 oT 130 19.0 33.0
24 44 INO= *7 -90 18.0 34.0( 4 11 3¢ V-1 aT 100 15.0 37.0|34 36 3¢ N+1 *9 130 19.0 33.0
39 29 INDN-1 & -100 15.0 37.0|18 50 3¢ V-1 49 100 15.0 37.0 |41 29 3¢ N+1 *7 130 19.0 33.0
54 34 INS-2 Ly -100 15.0 37.0|24 44 3¢ O-1 *4 100 15.0 37.0 (22 48 4vyDV-1 &5 100 12.0 40.0
21 47 3v V= *4 -140 11.0 41.0|32 36 2¢ O-1 & K 100 15.0 37.0(39 31 44D O-1 46 100 12.0 40.0
3335 3v V= +3 -140 11.0 41.0| 8 7 2¢ O= *4 90 9.0 43.0(42 28 4vyDO-1 +8 100 12.0 40.0
2 13 54DN-3 vJ -500 8.0 44.0|21 47 INO= »7 90 9.0 43011 6 5¢ N-1 vJ] -100 6.0 46.0
6 9 2¢vDO+1 &9 -870 5.0 47.0|38 30 3v S-1 +Q -100 4.0 48.0|16 1 5¢ N-1 »5 -100 6.0 46.0
45 23 2vDV+1 3 -870 5.0 47.0|45 23 3NS-1 +8 -100 4.0 48.0(19 51 5¢ N-1 *6 -100 6.0 46.0
40 28 3vyDO+1 w2 930 1.0 51.0|52 16 3v S-1 +Q -100 4.0 48.0|52 18 3v V= »5 -140 2.0 50.0
48 20 3yDO+1 &3 -930 1.0 51.0| 3 12 INO+1 v3 -120 0.0 52.0|15 2 3vDO= &K -530 0.0 52.0
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70
Ost
ov

4985
v Kn1085
Q -
&#EKD643
& KD74 a-
vE9%4 v D32
¢ EKKn32 ¢ D109875
&5 &#Kn987
& EKn10632
v K76
¢ 64
102
Kontr Ut Res
44D N = v3 590
4a4 S = *A 420
3NV -3 &A 300
3NV -2 &Q 200
ANV -1 SA 100
44D S-1 &5 -100
44DS-1 K -100
44DN-1 %3 -100
44D S-2 ¢A -300
54DN-2 +¢A -300
54D S -2 vA -300
54DS-2 ¢A -300
44D S -2 +A -300
44D S -2 +¢A -300
54DS-2 +¢K -300
44D S -2 &5 -300
66DS-3 ¢A -500
54DN-3 #Q -500
5¢ V= &A -600
5¢ O+1 s A -620
5¢DO= v6 -750
5¢DO+1 4A -950
5¢DO+1 4A -950
64 O= s A -1370
6¢ O= s A -1370
66D O= s A -1540
20RDS-6 ¢A -2800

Poén
52.0
50.0
48.0
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